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1. &��� �%�����/ ��%&�����/ 
 
&5?< GG55=>= 4<EF<??<=O «�=>EFD4==O= O7O> 45?>6>7> < ?D>D5EE<>=4?L=>7> >5M5=<O» 3 

>5GG5=<5 ?D4>F<G5E>><G 6?445=<N 45?>6O< 4=7?<=E><< O7O>><, ?>76>?ONM<< <47<EFD4< 
MDD5>F<6=> >EGM5EF6?OFL <4D>5F<=7>6GN 45OF5?L=>EFL, D45>F4FL E 74DG556=O<< 4>>G<5=F4<<, 
65EF< >><<G=<>4F<N E 45?>6O<< ?4DF=5D4<< < >?<5=F4<<, 4 F4>65 D5L4FL 7444G< ?> 
?D>46<65=<N ?D>4G>F4 E6>5= ?D>D5EE<>=4?L=>= ED5DO. 
 

2. ��%&� ��%&�����/ � %&$'�&'$� ��� 
 

�<EF<??<=4 «�56>G?LFGD=O5 >><<G=<>4F<< =4 <=>EFD4==>< O7O>5» >F=>E<FEO > 
>5O74F5?L=>= G4EF< 5?>>4 1 «�<EF<??<=O (<>4G?<)» �.1.�.4 ����. 

 
�D54L5EF6GNM<5 4<EF<??<=O (>GDEO, 

<>4G?<, ?D4>F<><) 
�>E?54GNM<5 4<EF<??<=O (>GDEO, <>4G?<, 

?D4>F<><) 
�><<G=<>4F<6=O5 F5E=>?>7<< 

674<<>45=EF6<O 6 ED5D5 E5D6<E4 
3 

 
 

3.�����$'��/� $��'�,&�&/ ��''���/ �� ��%&������ 
 

�>4 < =4<<5=>64=<5 
>><?5F5=F<< 

�>4 < <=4<>4F>D(<=4<>4F>DO) 
4>EF<65=<O>><?5F5=F<< 

$57G?LF4FO>5GG5=<O 

'�-4.%?>E>55= ?D<<5=OFL 
E>6D5<5==O5 
>><<G=<>4F<6=O5 
F5E=>?>7<<, 6 F>< G<E?5 
=4 <=>EFD4==>< (OE) 
O7O>5 (4E), 4?O 
4>445<<G5E>>7> < 
?D>D5EE<>=4?L=>7> 
674<<>45=EF6<O. 

'�-4.1. �EGM5EF6?O5F 
?D>D5EE<>=4?L=GN 
>><<G=<>4F<N 6 
E>>F65FEF6<< E 
?>FD55=>EFO<< E>6<5EF=>= 
45OF5?L=>EF<, 6>?NG4O >5<5=
<=D>D<4F<5= < 6OD45>F>G 
54<=>= EFD4F57<< 
674<<>45=EF6<O. 

�=45F E>6D5<5==O5 ED54EF64 
>><<G=<>4F<6=OE F5E=>?>7<= 6 
M>>=><<G5E>>= 45OF5?L=>EF<. 
'<55F 65EF< 4<4?>7, 6>?NG4O >5<5= 
<=D>D<4F<5= < 6OD45>F>G 54<=>= 
EFD4F57<< 674<<>45=EF6<O. 
�?4455F ?D4>F<G5E><<< =46O>4<< 
<E?>?L7>64=<O E>6D5<5==OE 
>><<G=<>4F<6=OE F5E=>?>7<=. 

'�-4.2. �EGM5EF6?O5F 
?D>D5EE<>=4?L=GN 
>><<G=<>4F<N  6 
E>>F65FEF6<< E 
?>FD55=>EFO<< E>6<5EF=>= 
45OF5?L=>EF<, 6>?NG4O >5<5= 
<=D>D<4F<5= < 6OD45>F>G 
54<=>= EFD4F57<< 
674<<>45=EF6<O  =4 
<=>EFD4==>< (OE)O7O>5(4E). 

�=45F O7O>>6>= <4F5D<4? (?5>E<G5E><5 
54<=<FO < 7D4<<4F<G5E><5 
EFDG>FGDO),=5>5E>4<<O= 4?O 
4>445<<G5E>>7> < ?D>D5EE<>=4?L=>7> 
674<<>45=EF6<O 
'<55F 65EF< 74?<EL >E=>6=OE <OE?5= < 
D4>F>6 (<7  4G4<>F5>EF>6  < F5>EF>6 4?O 
GF5=<O), 74?<EL F57<E>6 GEF=>7> 
6OEFG??5=<O / ?<EL<5==>7> 4>>?444  ?> 
<7GG45<>= ?D>5?5<5; 
�?4455F 7D4<<4F<G5E><<< < 
?5>E<G5E><<< >4F57>D<O< < <7GG45<>7>  
(OE) <=>EFD4==>7> (OE) O7O>4 (>6). 
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4. ��.�� ��%&�����/ � ���/ ''����� $���&/ 
 
�5M<= >5N5< 4<EF<??<=O E>EF46?O5F 6 74G5F=OE 54<=<F, 216 4>445<<G5E><E G4E>6.   
 

�G=4O D>D<4 >5GG5=<O 
 

�<4 GG55=>= D45>FO �E57> G4E>6 &D<<5EFDO 
2 3 

�>=F4>F=4O D45>F4 (6E57>) 24,5 10 12,5 
6 F>< G<E?5:    
1) 74=OF<O E5<<=4DE>>7> F<?4 (��) 22 10 12 
<7 =<E    
3 ?D4>F<G5E><5 74=OF<O (�$) 22 10 12 
2) 7DG??>6O5 >>=EG?LF4F<< 2  2 
3) ?D><56GF>G=4O 4FF5EF4F<O 0,5  0,5 
%4<>EF>OF5?L=4O D45>F4 (6E57>) (%$) 191,5 98 93,5 
6 F>< G<E?5:    
3 E4<>?>47>F>6>4  165 98 67 
3 ?>47>F>6>4 > 4FF5EF4F<< 26,5  26,5 
�5M<= >5N5<, G4E 216 108 108 
$>D<4 ?D><56GF>G=>= 4FF5EF4F<<  74G5F M>74<5= 

 
�4>G=4O D>D<4 >5GG5=<O 

 
�<4 GG55=>= D45>FO �E57> G4E>6 &D<<5EFDO 

2 3 
�>=F4>F=4O D45>F4 (6E57>) 12,8 4 8,8 
6 F>< G<E?5:    
1) 74=OF<O E5<<=4DE>>7> F<?4 (��)    
<7 =<E    
3 ?D4>F<G5E><5 74=OF<O (�$) 12 4 8 
2) ?D><56GF>G=4O 4FF5EF4F<O 0,8  0,8 
%4<>EF>OF5?L=4O D45>F4 (6E57>) (%$) 203,2 100 103,2 
6 F>< G<E?5:    
3 E4<>?>47>F>6>4  191 100 91 
3 ?>47>F>6>4 > 4FF5EF4F<< 12,2  12,2 
�5M<= >5N5<, G4E 216 104 112 
$>D<4 ?D><56GF>G=>= 4FF5EF4F<<  74G5F M>74<5= 

 
 

5. %���$����� � %&$'�&'$� ��%&�����/ 
 

5.1. %>45D64=<5 4<EF<??<=O 
 

7 D4745?4 
(F5<O) 

�4<<5=>64=<5 D4745?4 (F5<O) %>45D64=<5 D4745?4 (F5<O) 

1 Introduction to marketing and 
business process management 
(�6545=<5 6 <4D>5F<=7 < 
G?D46?5=<5 5<7=5E-?D>F5EE4<<) 

�=4>><EF6> E ?D>D5EE<>=4?L=O<< F5D<<=4<< < 
D5G56O<< >>=EFDG>F<O<<, >>F>DO5 =5>5E>4<<O 
4?O >?<E4=<O >E=>6=OE 4>?6=>EF=OE 
>5O74==>EF5= ?<F, GG4EF6GNM<E 6 
<4D>5F<=7>6>= 45OF5?L=>EF<, 6<4>6 MF>= 
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45OF5?L=>EF<, >>D?>D4F<6=OE F5==>EF5=. 
�6545=<5 6 4>F<6=O= E?>64D=O= 74?4E 7=4G<<OE 
4?O ED5DO >5E?G6<64=<O E?>6>E>G5F4=<=, 
E6O74==OE E ?>=OF<5< «branding»: brand 
awareness, brand equity, brand extension, brand 
identity, brand image, brand loyalty, brand name, 
derived brand, off-brand. 

2 Finding the client (�><E> >?<5=F4) $4EE<>FD5=<5 E?>6 F5<4F<G5E>>= 7DG??O 
«>?<5=FO < ?>>G?4F5?<», 7=4>><EF6> E 
>E=>6=O<< <5F>44<< <4D>5F<=7>6OE 
<EE?54>64=<= <=F5D5E4 ?>F5=F<4?L=OE 
>?<5=F>6: postal survey(?>GF>6O= >?D>E), online 
survey (>=?4== >?D>E), individual interviews: 
focus groups and street interviews 
(<=4<6<4G4?L=>5 <=F5D6LN<D>64=<5 6 D>>GE-
7DG??4E < G?<G=O5 <=F5D6LN), telephone survey 
(F5?5D>==O= >?D>E), panel survey (?4=5?L=>5 
<EE?54>64=<5), feedback forms (<E?>?L7>64=<5 
D>D< >5D4F=>= E6O7<), pre-testing 
(?D5464D<F5?L=>5 F5EF<D>64=<5). 

3 Planning a marketing strategy 
(�?4=<D>64=<5 <4D>5F<=7>6>= 
EFD4F57<<) 

�>?GG5=<5 EFG45=F4<< =46O>>6 <4D>5F<=7>6>7> 
??4=<D>64=<O: analysis of competitors (4=4?<7 
D45>FO >>=>GD5=F>6), benchmarking 
(55=G<4D><=7 3 4=4?<7 MF4?>==OE ?>>474F5?5=), 
situation analysis (E<FG4F<>==O= 4=4?<7), 
implementation (D54?<74F<O ??4=4) 3 < 
?D<=F<?>6 >?<E4=<O F4>>7> ??4=<D>64=<O =4 
4=7?<=E>>< O7O>5. �=4?<7 4=7?>O7OG=OE 
?>=OF<=: channels of distribution of product 
(>4=4?O D4E?D>EFD4=5=<O ?D>4G>F4), product 
promotion (?D>46<65=<5 ?D>4G>F4), logistics 
(?>7<EF<>4), public relations (E6O7< E 
>5M5EF65==>EFLN). �D4>F<G5E>4O D45>F4 ?> 
=4?<E4=<N F<?>6OE 45?>6OE ?<E5<. 

4 Creating materials for product 
promotion (%>744=<5 <4F5D<4?>6 
4?O ?D>46<65=<O ?D>4G>F4) 

�7GG5=<5 ?D>F5EE4 E>744=<O >5NO6?5=<=, ?D5EE-
D5?<7>6, D5>?4<=OE <4F5D<4?>6, =5>5E>4<<OE 
4?O ?D>46<65=<O ?D>4G>F4. $4EE<>FD5=<5 
?D>F5EE4 >D74=<74F<< >><?4=<< ?> 
D>D<<D>64=<N ?>7<F<6=>7> <<<464 D<D<O =4 
?D<<5D5 FGD<EF<G5E>>7> 475=FEF64. 
�>F5=F<D>64=<5 6=<<4=<O =4 =4F<>=4?L=OE 
>G?LFGD=OE >E>55==>EFOE, >>F>DO5 E?54G5F 
GG<FO64FL 6> 6D5<O D45>FO ?> ?D>46<65=<N 
?D>4G>F4. �>F<6<74F<O 6 D5G< EFG45=F>6 
E<=F4>E<G5E><E >>=EFDG>F<= 4=7?<=E>>7> O7O>4, 
<E?>?L7G5<OE 4?O ?D>46<65=<O ?D>4G>F4 6 
?5G4F=OE <54<4, <=F5D=5F ?D>EFD4=EF65, =4 
F5?56<45=<< < <E?>?L7>64=<5 MF<E >>=EFDG>F<= 
6 6545=<< 45?>6>= >>DD5E?>=45=F<<. 
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5 Presenting your public face 
(�G5?<G=4O ?D575=F4F<O E6>5= 
45OF5?L=>EF<) 

�=4>><EF6> E>E?>E>54<< >?<E4=<O =4 
4=7?<=E>>< O7O>5 D47?<G=OE 6<4>6 
45OF5?L=>EF<, =4?D46?5==>= =4 E>744=<5 < 
?D>46<65=<5 ?>?>6<F5?L=>7> >5D474 >><?4=<<, 
D<D<O: newsletters (D4EEO?>4 ?<E5<), press 
releases (?G5?<>4F<O ?D5EE-D5?<7>6), sponsoring 
(>D74=<74F<O E?>=E>DE>>= ?>445D6><), press 
conferences (?D>6545=<5 ?D5EE->>=D5D5=F<=).  

6 Marketing through trade fairs 
(�D54EF46?5=<5 ?D>4G>F4 =4 
6OEF46>4E) 

$4EL<D5=<5 4>F<6=>7> E?>64D=>7> 74?4E4 
F5D<<=4<< < ?>=OF<O<<, =47O64NM<<< 
>E=>6=O5 G4EF<, M?5<5=FO F>D7>6>= 6OEF46><, 
55 4G4<F>D<N: exhibition stand, editorial coverage, 
prospects, key publications, additional audience, co-
located items. %>EF46?5=<5 =4 4=7?<=E>>= O7O>5 
F<?>6OE ?D<7?4L5=<= =4 6OEF46>G=O5 
<5D>?D<OF<O. $4EE<>FD5=<5 >E>55==>EF5= 
?>EFD>5=<O 4<4?>7>6 ?> F5<5 «�D74=<74F<O 
6OEF46>G=>7> ?46<?L>=4». �4?<E4=<5 F<?>6>= 
<>F<64F<>==>= D5G<. 

 
 

5.2. %FDG>FGD4 4<EF<??<=O 
 

�G=4O D>D<O >5GG5=<O 
 

7 D4745?4 
(F5<O) 

�4<<5=>64=<5 D4745?4 (F5<O) �>?<G5EF6> G4E>6 
�$ %$ �E57> 

1 Introduction to marketing and business process 
management (�6545=<5 6 <4D>5F<=7 < G?D46?5=<5 
5<7=5E-?D>F5EE4<<) 

2 25 27 

2 Finding the client (�><E> >?<5=F4) 4 28 32 

3 Planning a marketing strategy (�?4=<D>64=<5 
<4D>5F<=7>6>= EFD4F57<<) 

4 28 32 

4 Creating materials for product promotion (%>744=<5 
<4F5D<4?>6 4?O ?D>46<65=<O ?D>4G>F4) 

4 28 32 

5 Presenting your public face (�G5?<G=4O ?D575=F4F<O 
E6>5= 45OF5?L=>EF<) 

4 28 32 

6 Marketing through trade fairs (�D54EF46?5=<5 
?D>4G>F4 =4 6OEF46>4E) 

4 28 32 

 �DG??>6O5 >>=EG?LF4F<<   2 
 �>47>F>6>4 > 4FF5EF4F<<   27 

 �5M<= >5N5< 22 165 216 

 
�4>G=4O D>D<4 >5GG5=<O 

 
7 D4745?4 

(F5<O) 
�4<<5=>64=<5 D4745?4 (F5<O) �>?<G5EF6> G4E>6 

�$ %$ �E57> 
1 Introduction to marketing and business process 

management (�6545=<5 6 <4D>5F<=7 < G?D46?5=<5 
5<7=5E-?D>F5EE4<<) 

2 31 33 

2 Finding the client (�><E> >?<5=F4) 2 32 34 
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3 Planning a marketing strategy (�?4=<D>64=<5 
<4D>5F<=7>6>= EFD4F57<<) 

2 32 34 

4 Creating materials for product promotion (%>744=<5 
<4F5D<4?>6 4?O ?D>46<65=<O ?D>4G>F4) 

2 32 34 

5 Presenting your public face (�G5?<G=4O ?D575=F4F<O 
E6>5= 45OF5?L=>EF<) 

2 32 34 

6 Marketing through trade fairs (�D54EF46?5=<5 
?D>4G>F4 =4 6OEF46>4E) 

2 32 34 

 �>47>F>6>4 > 4FF5EF4F<<   13 

 �5M<= >5N5< 12 191 216 

 
 

5.3. �4=OF<O E5<<=4DE>>7> F<?4 
 

�G=4O D>D<4 >5GG5=<O 
 

7 ?/? 7 D4745?4 
(F5<O) 

�<4 
74=OF<O 

�4<<5=>64=<5 �>?<G5EF6> 
G4E>6 

 
1 1 �$ Introduction to marketing and business process 

management (�6545=<5 6 <4D>5F<=7 < 
G?D46?5=<5 5<7=5E-?D>F5EE4<<) 

2 

2 2 �$ Finding the client (�><E> >?<5=F4) 4 

3 3 �$ Planning a marketing strategy (�?4=<D>64=<5 
<4D>5F<=7>6>= EFD4F57<<) 

4 

4 4 �$ Creating materials for product promotion 
(%>744=<5 <4F5D<4?>6 4?O ?D>46<65=<O 
?D>4G>F4) 

4 

5 5 �$ Presenting your public face (�G5?<G=4O 
?D575=F4F<O E6>5= 45OF5?L=>EF<) 

4 

6 6 �$ Marketing through trade fairs (�D54EF46?5=<5 
?D>4G>F4 =4 6OEF46>4E) 

4 

 
 

�4>G=4O D>D<4 >5GG5=<O 
 

7 ?/? 7 D4745?4 
(F5<O) 

�<4 
74=OF<O 

�4<<5=>64=<5 �>?<G5EF6> 
G4E>6 

 
1 1 �$ Introduction to marketing and business process 

management (�6545=<5 6 <4D>5F<=7 < 
G?D46?5=<5 5<7=5E-?D>F5EE4<<) 

2 

2 2 �$ Finding the client (�><E> >?<5=F4) 2 

3 3 �$ Planning a marketing strategy (�?4=<D>64=<5 
<4D>5F<=7>6>= EFD4F57<<) 

2 

4 4 �$ Creating materials for product promotion 
(%>744=<5 <4F5D<4?>6 4?O ?D>46<65=<O 
?D>4G>F4) 

2 

5 5 �$ Presenting your public face (�G5?<G=4O 
?D575=F4F<O E6>5= 45OF5?L=>EF<) 

2 
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6 6 �$ Marketing through trade fairs (�D54EF46?5=<5 
?D>4G>F4 =4 6OEF46>4E) 

2 

 
 

5.4. �GDE>6>= ?D>5>F (>GDE>64O D45>F4, D4EG5F=>-7D4D<G5E>4O D45>F4, D5D5D4F, >>=FD>?L=4O 
D45>F4) 3 =5 ?D54GE<>FD5=> 

 
 

5.5. %4<>EF>OF5?L=4O D45>F4 
 

7 D4745?4 
(F5<O) 

�<4O E4<>EF>OF5?L=>= D45>FO �$� �$� 
 

1-6 
�>47>F>6>4 > GEF=><G >?D>EG ?> F5<5, 
F5EF<D>64=<N, 6O?>?=5=<N ?D4>F<G5E><E 7444=<=. 

165 191 

1-6 �>47>F>6>4 > 4FF5EF4F<<. 26,5 12,2  

 
 

6. ��$�����&��,�/� &�%������� 
 

�D< >5GG5=<< <=>EFD4==><G O7O>G <E?>?L7GNFEO E?54GNM<5 >5D47>64F5?L=O5 F5E=>?>7<<. 
&5E=>?>7<O >><<G=<>4F<6=>7> >5GG5=<O 3 =4?D46?5=4 =4 D>D<<D>64=<5 >><<G=<>4F<6=>= 

>><?5F5=F=>EF< EFG45=F>6, >>F>D4O O6?O5FEO 547>6>=, =5>5E>4<<>= 4?O 444?F4F<< > E>6D5<5==O< 
GE?>6<O< <56>G?LFGD=>= >><<G=<>4F<<.  

&5E=>?>7<O D47=>GD>6=56>7> (4<DD5D5=F<D>64==>7>) >5GG5=<O ?D54?>?4745F >EGM5EF6?5=<5 
?>7=464F5?L=>= 45OF5?L=>EF< EFG45=F>6 E GGUF>< <E <=4<6<4G4?L=OE E?>E>5=>EF5=, 
6>7<>6=>EF5= < <=F5D5E>6, ?>>MDOO <E D54?<7>6O64FL E6>= F6>DG5E><= ?>F5=F<4?. %>744=<5 < 
<E?>?L7>64=<5 4<47=>EF<G5E><E F5EF>6 O6?O5FEO =5>FN5<?5<>= G4EFLN 44==>= F5E=>?>7<<.  

&5E=>?>7<O <=4<6<4G4?<74F<< >5GG5=<O ?><>745F D54?<7>6O64FL ?<G=>EF=>-
>D<5=F<D>64==O= ?>4E>4, GG<FO64O <=4<6<4G4?L=O5 >E>55==>EF< < ?>FD55=>EF< GG4M<EEO.  

&5E=>?>7<O F5EF<D>64=<O <E?>?L7G5FEO 4?O >>=FD>?O GD>6=O GE6>5=<O ?5>E<G5E><E, 
7D4<<4F<G5E><E 7=4=<= 6 D4<>4E <>4G?O =4 >?D545?U==>< MF4?5 >5GG5=<O. �4==4O F5E=>?>7<O 
?>76>?O5F ?D5?>4464F5?N 6OO6<FL < E<EF5<4F<7<D>64FL 4E?5>FO, FD55GNM<5 4>?>?=<F5?L=>= 
?D>D45>F><.  

&5E=>?>7<O >5GG5=<O 6 E>FDG4=<G5EF65 D54?<7G5F <45N 674<<=>7> >5GG5=<O, >EGM5EF6?OO 
>4> <=4<6<4G4?L=GN, F4> < >>??5>F<6=GN >F65FEF65==>EFL 74 D5L5=<5 GG55=OE 7444G.  

�7D>64O F5E=>?>7<O ?>76>?O5F D476<64FL =46O>< D4EE<>FD5=<O DO44 6>7<>6=OE E?>E>5>6 
D5L5=<O ?D>5?5<, 4>F<6<7<DGO <OL?5=<5 EFG45=F>6 < D4E>DO64O ?<G=>EF=O= ?>F5=F<4? >464>7> 
>5GG4NM57>EO.  

&5E=>?>7<O D476<F<O >D<F<G5E>>7> <OL?5=<O E?>E>5EF6G5F D>D<<D>64=<N D47=>EF>D>==5= 
?<G=>EF<, E?>E>5=>= >D<F<G5E>< >F=>E<FLEO > <=D>D<4F<<, G<5=<N >F5<D4FL <=D>D<4F<N 4?O 
D5L5=<O ?>EF46?5==>= 7444G<.  

�=D>D<4F<>==>->><<G=<>4F<>==O5 F5E=>?>7<< (��&) D4EL<DONF D4<>< >5D47>64F5?L=>7> 
?D>F5EE4, ?>6OL4O 57> ?D4>F<G5E>GN =4?D46?5==>EFL, E?>E>5EF6GNF <=F5=E<D<>4F<< 
E4<>EF>OF5?L=>= D45>FO >5GG4NM<EEO < ?>6OL5=<N ?>7=464F5?L=>= 4>F<6=>EF<. � D4<>4E ��& 
6O45?ONFEO 2 6<44 F5E=>?>7<=:  

- F5E=>?>7<O <E?>?L7>64=<O >><?LNF5D=OE ?D>7D4<<, >>F>D4O ?>76>?O5F MDD5>F<6=> 
4>?>?=<FL ?D>F5EE >5GG5=<O O7O>G =4 6E5E GD>6=OE. �G?LF<<54<==O5 ?D>7D4<<O ?D54=47=4G5=O 
>4> 4?O 4G4<F>D=>=, F4> < E4<>EF>OF5?L=>= D45>FO EFG45=F>6 < =4?D46?5=O =4 D476<F<5 
7D4<<4F<G5E><E < ?5>E<G5E><E =46O>>6.  

- �=F5D=5F-F5E=>?>7<<, ?D54>EF46?ONM<5 L<D>><5 6>7<>6=>EF< 4?O ?><E>4 <=D>D<4F<<, 
6545=<O =4GG=OE <EE?54>64=<=.  
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�=F5D4>F<6=O5 < 4>F<6=O5 >5D47>64F5?L=O5 F5E=>?>7<<,  
<E?>?L7G5<O5 6 4G4<F>D=OE 74=OF<OE 

 
7 

D4745?4 
(F5<O) 

�<4 
74=OF<O  

 

�E?>?L7G5<O5 <=F5D4>F<6=O5 < 4>F<6=O5 
>5D47>64F5?L=O5 F5E=>?>7<< 

�>?<G5EF6> G4E>6 

�$� �$� 

3 �P &6>DG5E><5 7444=<O: E>EF46?5=<5 D4EE>474 > 
D5L5=<< D45>G<E ?D>5?5< ?> >?>D=O< 
DD474<, >76GG<64=<5 ?> D>?O< DD47<5=F4 
4=7?<=E>>7> D<?L<4, 6 >>F>D>< 
45<>=EFD<DG5FEO E<FG4F<O, E6O74==4O E 
D47D45>F>>= <4D>5F<=7>6>= EFD4F57<< (<7D4 6 
><=>4G5?O6). 

2 2 

5, 6 �P �=F5D4>F<6=>5 74=OF<5 (D45>F4 E 
4G4<><4F5D<4?4<<: E6>5>4=4O <=F5D?D5F4F<O 
<4F5D<4?>6 4G4<D>64=<O; E>>D4F<G5E><= 
4<4?>7 =4 >E=>65 EFD4=>654G5E><E 
<4F5D<4?>6: =5>5E>4<<>, =4?D<<5D, 
>5>E=>64FL F>F <?< <=>= <4D>5F<=7>6O= 
?D<5<; «>5GG4NM<=EO 6 D>?< 
?D5?>4464F5?O»; <E?>?L7>64=<5 
<=F5D4>F<6=OE >5GG4NM<E D<?L<>6, 6 
>>F>DOE =5>5E>4<<> ?><>GL 75D>O< 
74>>=G<FL DD47O 6 4<4?>75 < F.4.; ?D>E<>FD < 
>5EG645=<5 GG55=OE D<?L<>6. 

2 2 

 
 

�D4>F<G5E>4O ?>47>F>6>4 >5GG4NM<EEO 
 

7 D4745?4 
(F5<O) 

�<4 
74=OF<O  

�<4O D45>F �>?<G5EF6> 
G4E>6 

3 3 3 3 

 
 

7. �&���'�/� ��&�$���/ ��/ &��'-��� ���&$��/ '%�������%&�, 
�$����'&�'��� �&&�%&�&�� 

 
7.1. �5F>4<G5E><5 <4F5D<4?O, >?D545?ONM<5 ?D>F54GDO >F5=<64=<O 6 D4<>4E F5>GM57> 

>>=FD>?O GE?5645<>EF< 
 

'EF=O= >?D>E 3 ED54EF6> >>=FD>?O GE6>5=<O GG55=>7> <4F5D<4?4 ?> F5<4< 74=OF<=. 
�D>F54GD4 ?D>6545=<O 44==>7> >F5=>G=>7> <5D>?D<OF<O 6>?NG45F 6 E55O: 55E54G 

?D5?>4464F5?O E >5GG4NM<<EO =4 F5<O, E6O74==O5 E <7GG45<>= 4<EF<??<=>=, < D4EEG<F4==>5 =4 
6OOE=5=<5 >5N5<4 7=4=<= >5GG4NM57>EO ?> >?D545?5==><G D4745?G, F5<5, ?D>5?5<5 
(<=4<6<4G4?L=> <?< DD>=F4?L=>). 

�>>474F5?< 4?O >F5=>< GEF=>7> >F65F4: 1) 7=4=<5 <4F5D<4?4; 2) ?>E?54>64F5?L=>EFL 
<7?>65=<O; 3) 6?445=<5 D5GLN < ?D>D5EE<>=4?L=>= F5D<<=>?>7<5=; 4) ?D<<5=5=<5 >>=>D5F=OE 
?D<<5D>6; 5) 7=4=<5 D4=55 <7GG5==>7> <4F5D<4?4; 6) GD>65=L F5>D5F<G5E>>7> 4=4?<74; 7) EF5?5=L 
E4<>EF>OF5?L=>EF<; 8) EF5?5=L 4>F<6=>EF< 6 ?D>F5EE5; 9) 6O?>?=5=<5 D57?4<5=F4. 



10 

�?O ?>47>F>6>< > 44==><G >F5=>G=><G <5D>?D<OF<N =5>5E>4<<> <7GG<FL GG55=O5 
<4F5D<4?O ?> F5<5 74=OF<O, ?D>E<>FD5FL E?D46>G=<>< ?> 7D4<<4F<>5, 4 F4>65 ?>6F>D<FL 
<4F5D<4?O, 74?<E4==O5 6> 6D5<O ?D4>F<G5E><E 74=OF<=. 

&5EF<D>64=<53ED54EF6> >>=FD>?O GE6>5=<O GG55=>7> <4F5D<4?4. �5 <5=55, G5< 74 =545?N 
4> F5EF<D>64=<O, ?D5?>4464F5?L >?D545?O5F 4?O >5GG4NM<EEO <EE>4=O5 44==O5 4?O ?>47>F>6>< 
> F5EF<D>64=<N: F5<O, 6>?D>EO, ?> >>F>DO< 5G4GF 7444=<O 6 F5EF>6>= D>D<5, ?<F5D4FGDG < 
<EF>G=<>< E F>G=O< G>474=<5< D4745?>6, F5<, EF4F5= 4?O ?>47>F>6><.  

&5EFO 6O?>?=ONFEO 6> 6D5<O 4G4<F>D=OE 74=OF<= E5<<=4DE>>7> F<?4 (?D4>F<G5E><E 
74=OF<=).  

�>?<G5EF6> 6>?D>E>6 6 F5EF>6>< 7444=<< >?D545?O5FEO ?D5?>4464F5?5<. 
�4 6O?>?=5=<5 F5EF>6 >F6>4<FEO 0,531 4>445<<G5E><= G4E.  
�=4<6<4G4?L=>5 F5EF>6>5 7444=<5 6O445FEO >5GG4NM5<GEO =4 5G<46=>< =>E<F5?5. &4>65 

F5EF<D>64=<5 <>65F ?D>6>4<FLEO E <E?>?L7>64=<5< >><?LNF5D=OE ED54EF6 < ?D>7D4<< 6 
E?5F<4?L=> >5>DG4>64==OE ?><5M5=<OE. 

�D< ?D>E>645=<< F5EF<D>64=<O ?>?L7>64FLEO GG55=<>4<< < GG55=O<< ?>E>5<O<< =5 
D47D5L45FEO. 

'D>65=L 7=4=<= >5GG4NM57>EO >?D545?O5FEO >F5=>4<< «>F?<G=>», «E>D>L>», 
«G4>6?5F6>D<F5?L=>», «=5G4>6?5F6>D<F5?L=>». 

�O?>?=5=<5 ?D4>F<G5E><E 7444=<= (D5L5=<5 M6D<EF<G5E><E 7444G < 7444G, E6O74==OE E 
<=F5D?D5F4F<5=F5>EF4) 3 ?<EL<5==4O D>D<4 D45>FO EFG45=F4, >>F>D4O E?>E>5EF6G5F 
74>D5??5=<N < G7?G5?5=<N F5>D5F<G5E><E 7=4=<= < ?>76>?O5F ED>D<<D>64FL G EFG45=F>6 
=46O>< ?D<<5=5=<O MF<E 7=4=<= =4 ?D4>F<>5. 

�D4>F<G5E><5 7444=<O 6O?>?=ONFEO 6> 6D5<O 4G4<F>D=OE 74=OF<= E5<<=4DE>>7> F<?4 ?> 
?D54?>65==O< ?D5?>4464F5?5< <4F5D<4?4<.  

�>?<G5EF6> 7444=<= >?D545?O5FEO ?D5?>4464F5?5<. 
$57G?LF4F>< 6O?>?=5=<O 7444=<O O6?O5FEO >FGUF, >>F>DO= 4>?65= E>45D64FL:  =><5D, F5<G 

?D4>F<G5E>>= D45>FO; >D4F>>5 >?<E4=<5 >464>7> 7444=<O; 6O?>?=5==>5 7444=<5; >F65FO =4 
>>=FD>?L=O5 6>?D>EO. 

'D>65=L G<5=<= < =46O>>6 >5GG4NM57>EO >?D545?O5FEO >F5=>4<< «>F?<G=>», «E>D>L>», 
«G4>6?5F6>D<F5?L=>», «=5G4>6?5F6>D<F5?L=>». 

 
 

7.2. �5F>4<G5E><5 <4F5D<4?O, >?D545?ONM<5 ?D>F54GDO >F5=<64=<O 6 D4<>4E 
?D><56GF>G=>= 4FF5EF4F<< 

�4G5F 3 MF> D>D<4 ?D><56GF>G=>= 4FF5EF4F<<, 7444G5= >>F>D>7> O6?O5FEO >><??5>E=>5 
>F5=>4 GD>6=5= 4>EF<65=<O ??4=<DG5<OE D57G?LF4F>6 >5GG5=<O ?> 4<EF<??<=5.  

�4G5F 4?O >G=>= D>D<O >5GG5=<O ?D>6>4<FEO 74 EG5F G4E>6, >F654U==OE =4 <7GG5=<5 
E>>F65FEF6GNM5= 4<EF<??<=O.  

�D>F54GD4 ?D>6545=<O 44==>7> >F5=>G=>7> <5D>?D<OF<O 6>?NG45F 6 E55O >F5=>G 
D57G?LF4F>6 F5>GM57> >>=FD>?O GE?5645<>EF< EFG45=F4 6 F5G5=<5 ?5D<>44 >5GG5=<O ?> 
4<EF<??<=5.�?O ?>?GG5=<O 74G5F4 =5>5E>4<<> <<5FL ?>?>6<F5?L=O5 >F5=><, ?>?GG5==O5 6 
D4<>4E F5>GM57> >>=FD>?O GE?5645<>EF<, ?> >464>= F5<5, ?D54GE<>FD5==>= 4<EF<??<=>=. 

� >D<F5D<< <F>7>6>= >F5=>< GD>6=O ?>47>F>6>< >5GG4NM57>EO ?> 4<EF<??<=5 6E>4OF: 
- GD>65=L GE6>5=<O EFG45=F>< <4F5D<4?4, ?D54GE<>FD5==>7> D45>G5= ?D>7D4<<>=; 
- GD>65=L ?D4>F<G5E><E G<5=<=, ?D>45<>=EFD<D>64==OE EFG45=F>< ?D< 6O?>?=5=<< 

?D4>F<G5E><E 7444=<=; 
- GD>65=L >E6>5=<O >><?5F5=F<=, ?>76>?ONM<E 6O?>?=OFL ?D4>F<G5E><5 7444=<O; 
- ?>7<>4 <OL?5=<O, >5>E=>64==>EFL, G5F>>EFL, ?>?=>F4 >F65F>6. 
�4G5F 4?O >G=>= < 74>G=>= D>D<O ?> 4<EF<??<=5 ?D54?>?4745F 6O?>?=5=<5 

EFG45=F4<< >><??5>E=OE ?D4>F<G5E><E 7444=<= ?> F5<4<, <7GG5==O< 6 44==>< 
FD<<5EFD5.  
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�D>F54GD4 ?D>6545=<O 44==>7> >F5=>G=>7> <5D>?D<OF<O 6>?NG45F 6 E55O F4>65 55E54G 
?D5?>4464F5?O E >5GG4NM<<EO ?> 6>?D>E4<, >>F>DO5 5O?< ?>EF46?5=O 6 >><??5>E=>< 
?D4>F<G5E>>< 7444=<<, 55E544 =4?D46?5=4 =4 6OOE=5=<5 >5N5<4 7=4=<= >5GG4NM57>EO ?> 
>?D545?5==>= F5<5 4<EF<??<=O. 

&<?>6O5 ?D4>F<G5E><5 7444=<O > 74G5FG 4>6>4OFEO 4> E6545=<O EFG45=F>6 74D4=55.  
�D< ?>47>F>6>5 > >F65FG ?>?L7>64=<5 GG55=<>4<<, GG55=>-<5F>4<G5E><<< ?>E>5<O<<, 

ED54EF64<< E6O7< < M?5>FD>==O<< D5EGDE4<< =4 ?N5OE =>E<F5?OE 74?D5M5=>. 
�4 6O?>?=5=<5 >><??5>E=>7> ?D4>F<G5E>>7> 7444=<O >F6>4<FEO, >4> ?D46<?>, 30340 <<=GF. 
�>E?5 >>>=G4=<O >F65F4 ?D5?>4464F5?L >5NO6?O5F >5GG4NM5<GEO >F5=>G ?> D57G?LF4F4< 

74G5F4, 4 F4>65 6=>E<F MFG >F5=>G 6 4FF5EF4F<>==GN 654><>EFL, 74G5F=GN >=<6>G. 
'D>65=L 7=4=<=, G<5=<= < =46O>>6 >5GG4NM57>EO >?D545?O5FEO >F5=>4<< «74GF5=>», «=5 

74GF5=>». 
->74<5= 3 D>D<4 ?D><56GF>G=>= 4FF5EF4F<< ?> 4<EF<??<=5, 7444G5= >>F>D>= O6?O5FEO 

>><??5>E=4O >F5=>4 GD>6=5= 4>EF<65=<O ??4=<DG5<OE D57G?LF4F>6 >5GG5=<O ?> 
4<EF<??<=5.�D>F54GD4 ?D>6545=<O 44==>7> >F5=>G=>7> <5D>?D<OF<O ?D54EF46?O5F E>5>= 
E>55E54>64=<5 ?> F5>D5F<G5E><< 6>?D>E4<, 4 F4>65 >><??5>E=>5 ?D4>F<G5E>>5 
7444=<5(=5E>>?L>> 7444=<= D47=>7> F<?4) ?>6OL5==>= E?>6=>EF<, >>F>D>5 =4?D46?5=> =4 
?D>65D>G >4> 7D4<<4F<G5E><E 7=4=<= EFG45=F>6, F4> < D5G56OE >><?5F5=F<= (?>=<<4=<5 >5M57> 
E>45D64=<O F5>EF>6, ?D>D5EE<>=4?L=>= F5D<<=>?>7<<, E?>E>5=>EFL > ?D46<?L=>= 
<=F5D?D5F4F<< <7?>65==OE 6 F5>EF4E D4>F<G5E><E 44==OE). 

 
 

7.3. �F5=>G=O5 ED54EF64, >D<F5D<< < L>4?4 >F5=>< 
 

&<?>6O5 7444=<O 4?O F5>GM57> >>=FD>?O GE?5645<>EF<  
 

�5D5G5=L F<?>6OE 6>?D>E>6 4?O GEF=>7> >?D>E4 
�F65F =4 6>?D>E 4>?65= ?D54EF46?OFL E>5>= >D4F>>5 <>=>?>7<G5E>>5 6OE>47O64=<5  

=4 4=7?<=E>>< O7O>5 
 

1. �D4F>> >?<L<F5 45OF5?L=>EFL ?5D5G<E?5==OE E?5F<4?<EF>6 6 >5?4EF< <4D>5F<=74: «brand 
manager», «director of marketing», «head of PR», «marketing assistant». 

2. �4=F5 >?D545?5=<5 F5D<<=4 «branding». 
3.�D54EF46LF5 E555, GF> >><?4=<O, ?>?GG<6L4O <765EF=>EFL 5?47>44DO ?5D6>>?4EE=>= 

FGD<EF<G5E>>= M><?<D>6>5, >>F>DGN >=4 6O?GE>4?4, D5L<?4 ?D><76>4<FL F>64DO 4?O 4><4. 
%<FG4F<O >?<E4=4 E?54GNM<< >5D47><: «The company has gained a good reputation thanks to the 
tourist equipment. But when she began to produce household goods, the trade failed. The problem was 
that the new productwas off-brand». �5NOE=<F5 7=4G5=<5 F5D<<=4 «off-brand». 

4. �D< E>744=<< <4D>5F<=7>6>= EFD4F57<< 646=> >?D545?<FL F>, GF> =47O645FEO «typical 
customer profile». 'F> >5>7=4G45F MF> 4=7?<=E>>5 6OD465=<5. 

5. �4D>5F<=7>6O= >><??5>E(«marketing mix») >5OG=> 6>?NG45F F4> =47O645<O5 «G5FOD5 P» 
(«four Ps»): product, price, placement, promotion. �5NOE=<F5, GF> >5>7=4G4NF MF< F5D<<=O. 

6. �5OG=> 45?>6>5 ?<EL<> 4>?6=> 6>?NG4FL DD47O, >>F>DO5 <>6=> >5N54<=<FL 6 7DG??O: 
«Greetings and closes», «Pleasantries», «Closes for saying thank you». �D<654<F5 ?D<<5DO 
>5M5?D<=OFOE D5G56OE D>D<G? 4?O >464>= <7 7DG??. 

7. �5NOE=<F5, 4?O >4><E F5?5= 5O? D47D45>F4= <=EFDG<5=F, ?>?GG<6L<= =4764=<5 «Boston 
Matrix»? 

8. �4> D4EL<DD>6O645FEO 455D56<4FGD4 AIDA, >>F>DGN <E?>?L7GNF 4?O >5>7=4G5=<O <>45?< 
?D>46<65=<O ?D>4G>F>6 < GE?G7. �D>>><<5=F<DG=F5 7=4G5=<5 >464>7> F5D<<=4. 

9. �5D5G<E?<F5 >5O74F5?L=O5 D4745?O 6 EFDG>FGD5 EF4=44DF=>7> ?D5EE-D5?<74, ?D<654<F5 
?D<<5DO >5M5?D<=OFOE D5G56OE D>D<G?, <E?>?L7G5<OE 6 >464>< D4745?5. 
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10. �> 6D5<O ?D575=F4F<< >><?4=<< =4 F>D7>6OE 6OEF46>4E, OD<4D>4E <4D>5F>?>7< 7>F>6OF 
4?O GG4EF=<>>6 ?D575=F4F<< «giveaways». �5NOE=<F5 7=4G5=<5 MF>7> E?>64. 

 
�D<F5D<< >F5=>< GEF=>7> >?D>E4 

�F5=>4 «>F?<G=>» 6OEF46?O5FEO EFG45=FG, 5E?< >= 6 ?>?=>= <5D5 D4E>DO? E>45D64=<5 
6>?D>E4, 57> D5GL E4D4>F5D<7G5FEO E>5?N45=<5< D>=5F<G5E><E < 7D4<<4F<G5E><E =>D< 
4=7?<=E>>7> O7O>4, =4EOM5=4 ?D>D5EE<>=4?L=O<< F5D<<=4<<. 

�F5=>4 «E>D>L>» 6OEF46?O5FEO EFG45=FG, 5E?< 6 ?D>F5EE5 >F65F4 >= 4>?GEF<? >4=G-465 
>L<5>< 6 D4E>DOF<< E>45D64=<O 6>?D>E4 <?< 6 ?>EFD>5=<< ?D54?>65=<= (7D4<<4F<G5E><5 
>L<5><). 

�F5=>4 «G4>6?5F6>D<F5?L=>» 6OEF46?O5FEO EFG45=FG, 5E?< >= 6 F5?>< ?>=<<45F 
E>45D64=<5 <7GG5==OE F5<, <<55F ?D54EF46?5=<5 > 7D4<<4F<G5E><E =>D<4E, => 6 ?D>F5EE5 
>F65F4 4>?GE>45F 5>?55 46GE >L<5>>. 

�F5=>4 «=5G4>6?5F6>D<F5?L=>» 6OEF46?O5FEO EFG45=FG, 5E?< >F65F ?> EGM5EF6G 
>FEGFEF6G5F, =5E<>FDO =4 =46>4OM<5 6>?D>EO ?D5?>4464F5?O. 

 
 

�5D5G5=L F<?>6OE F5EF>6OE 7444=<= 
 

1. �D>G<F4=F5 >?<E4=<5 4>?6=>EF=OE >5O74==>EF5= E>FDG4=<>4 >><?4=<<. �?D545?<F5 
4>?6=>EFL, >>F>DGN >= 74=<<45F: «The job involves managing all aspects of publicity. The right 
person will have solid writing skills and strong relationships with the appropriate media outlets. The 
position reports directly to the CEO. The salary is based on experience». 

a) brand manager, 
b) director of marketing, 
c) head of PR, 
d) marketing assistant. 
 
2. �4<= <7 E?>E>5>6 E5>D4 44==OE 6 <4D>5F<=7>6OE <EE?54>64=<OE 6 5D<F4=E>>< 64D<4=F5 

D477>6>D=>7> 4=7?<=E>>7> O7O>4 >5OG=> =47O645FEO «one-on-one». �O55D<F5 ?D>D5EE<>=4?L=O= 
E<=>=<< MF>7> D477>6>D=>7> E?>64. 

a) postal survey, 
b) telephone survey, 
c) street interview, 
d)individual interview. 
 
3. �4D>5F<=7>6O= >><??5>E («marketing mix»), >D><5 G5FOD5E >E=>6=OE M?5<5=F>6 (product, 

price, placement, promotion)<>65F 6>?NG4FL FD< 4>?>?=<F5?L=OE. �O55D<F5 MF< FD< M?5<5=F4 <7 
?5D5G<E?5==OE. 

a) participants, 
b) prediction, 
c) projection, 
d)processes, 
e) physical evidence. 
 
4. �D>G<F4=F5 >?D545?5=<5 >4=>7> <7 E5>F>D>6 «Boston Matrix», G>46<F5 =4764=<5 E5>F>D4: 

«Mature products that have a large market share and that are earning a lot of money.The market is static, 
so there9s not much opportunity for growth, but that9s not a problem.These products require little 
attention from the marketing department». 

a) stars, 
b) cash cows, 
c) question marls, 
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d)poor dogs. 
 
5. � 6D5<O F>D7>6OE 6OEF46>> <=>7<5 >><?4=<< >D74=<7GNF «social events». �4=4<F5 

65D=>5 >?D545?5=<5 MF>7> <5D>?D<OF<O. 
a) «Such events usually bring together high-ranking sponsors who can discuss development 

issues of acompany. These events are a good opportunity to find new sources of financial support», 
b) «Such events are held for the company9s employees to discuss business matters», 
c) «These events are a good opportunity to meet with competitors and resolve controversial 

issues», 
d)«These events provide an excellent opportunity for business people to 8meet and greet9 in an 

informal setting. Business is seldom discussed at such events. The focus instead is on relationship-
building through small talk and introducing mutual friends». 

 
�D<F5D<< < >F5=>< F5EF<D>64=<O 

�>?<G5EF6> ?D46<?L=OE >F65F>6: 
�5=55 5 (<7 10 6>?D>E>6)3 «=5G4>6?5F6>D<F5?L=>», 
536 3 «G4>6?5F6>D<F5?L=>», 
738 3 «E>D>L>», 
9310 3 «>F?<G=>». 

 
 

&<?>6O5 7444=<O 4?O ?D4>F<G5E>>= ?>47>F>6>< >5GG4NM<EEO 
 

�D4>F<G5E>>5 7444=<5 1 
�D>G<F4=F5 4<4?>7 > EFDG>FGD5 <4D>5F<=7>6>7> >F45?4 >><?4=<<. �4?>?=<F5 ?D>?GE>< 6 

>D74=<74F<>==>= EE5<5 <<5=4<< E>>F65FEF6GNM<E E>FDG4=<>>6 
 

 
 
Anna. Well, all marketing departments are different, 4re they? 
Rob. Yes. At my company, Ben and I are the marketing department! 
Anna. I know what you mean. I used to work for quite a small company doing all of their 

marketing. But the company here is a bit bigger. We have separate departments for sales and marketing. 
So, let me just give you some names. As you know. I9m the public relations officer here and I report 
directly to Sabrina, who9s the director of marketing. My assistant is Uwe. You can always give him a call 
if you can9t reach me. 

Rob. Wait, Anna, let me just write this down. Sabrina and ... um, how do you spell your assistant9s 
name? 

Anna. That9s U-W-E. Uwe. 
Rob. Got you. 
Anna. And if you need to talk to somebody about individual products, then you should contact 

Vittore or his assistant, Thomas. 
Rob. Ah, what was that again? Vee ...? 
Anna.Vittore3he9s Italian. You spell that V-I-double-T-O-R-E. 
Rob. OK. And Thomas. That9s easy enough. 
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Anna. Right. Finally, Sylvia is responsible for the image of our various brands. 
Rob. Great! That9s very helpful. 
 
a_______, b_______, c_______, d_______, e_______, f_______. 
 
 

�D4>F<G5E>>5 7444=<5 2 
�5D54 64<< E5<L E>65F>6, >4> ?>?GG<FL 5>?LL5 ?>?57=OE E6545=<= > 64L<E ?>F5=F<4?L=OE 

>?<5=F4E. �4?>?=<F5 ?D>?GE>< 6 ?D54?>65=<OE E?>64<< <?< E?>6>E>G5F4=<O<<, >>F>DO5 
=4?<E4=O >GDE<6=O< LD<DF><. �D<<5D ?D<6545= 6 ?5D6>< ?D54?>65=<< 

 
Clients, competitors, find out, listening, loyal customers, new trends, sales records, search terms 

  
1. Emailloyal customers directly with one or two questions. 
2. Examine the _____________ that people type into your website9s search function. Which 

itemsare people looking for? 
3. Schedule a social event, such as a wine tasting, for existing or potential  _____________,anduse 

this as an opportunity to _____________ more about what they want. 
4. Compare your marketing approach with that ofyour _____________. What areas are 

theytargeting that you aren9t? 
5. Read trade journals to team about _____________.This will help you stay ahead of 

thecompetition. 
6. Study your _____________ to see what facts you already have about the people who buy 

fromyou. 
7. Spend time in a shop or at a trade fair _____________ to people. What do they talk about?What 

questions do they ask? 
 
2_________, 3_________, 4_________, 5_________, 6_________, 7_________. 
 
 

�D4>F<G5E>>5 7444=<5 3 
�DG??4 E>FDG4=<>>6 D<D<O, >>F>D4O 74=<<45FEO ?D>4465= FGD<EF<G5E>>= >4564O, >5G6< < 
<=65=F4DO 4?O =4G<=4NM<E FGD<EF>6 3 ?D5<<GM5EF65==> ?>4D>EF>>6, E>5<D45FEO ?D>65EF< 

<4D>5F<=7>6>5 <EE?54>64=<5 < >5EG6445F, >4><5 <5F>4O E5>D4 44==OE << ?GGL5 
<E?>?L7>64FL. �D>G<F4=F5 F5>EF, 6O?>?=<F5 7444=<O > =5<G 

 
Corinna. Well, a postal survey would be quite cheap. 
Heike. That9s true, but I don9t think It would be very effective. 
Rupert. Neither do I. After all, every time I get one ofthose I usually put it straight in the bin. And 

the people who do answer usually skip half the questions. I think an online survey would get much better 
results. 

Corinna. Well, it would be free, which is nice, but I don9t think all our customers use our website, 
actually. They tend to buy our products in shops, so I9m not sure how many relevant responses we9d get. 
We may end up with a skewed sample. 

Heike. What about individual interviews? If we met people, we could show them a prototype and 
let them examine it. That way they could give a more Informed response. 

Rupert. Yes, and we9d also have a better response rate. So, we could either organize a focus group 
and invite four to six people to take part or do a street interview and just stop people on the street and ask 
them questions. What do you think, Corinna? 

Corinna. Well, both options have their strengths and weaknesses, but to be honest, interviews like 
that usually cost a fortune. I personally think that a telephone survey is the best. We can look at the user 
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profiles we have and just call members of our target group, you know, parents with their children-
teenagers. 

Heike. I agree completely. We should definitely focus on our target group. 
Rupert. Yes, but what about the people without young children like grandparents, who can buy 

camping supplies as a present for their grandchild. 
Heike.Mmm, good point. It looks like we9ll have to... 
 
�4=4<F5 6 F5>EF5 E?>64 < E?>6>E>G5F4=<O, >>F>DO5 E>>F65FEF6GNF E?54GNM<< 

>?D545?5=<O<: 
1) useful answer: ___________________ 
2) a survey group which is not typical of a target group: ___________________ 
3) model of a product in development: ___________________ 
4) percentage of people who complete a survey: ___________________ 
5) the group of people a company wants to sell to: ___________________ 
6) information known about a customer:___________________ 
 
�4?>?=<F5 =4=45==O<< 64<< E?>64<< < E?>6>E>G5F4=<O<< ?D>?GE>< 6 ?D54?>65=<OE: 
a) Rolex9s _______________ is wealthy people who see a watch as a status symbol. 
b) When you log on to a website, the pages you look at and the amount of time you spend on them 

are saved in your _______________. 
E) Even the best-designed surveys only have a _______________ of about 4%, sodon9t set your 

expectations too high. 
d) A _______________ will make the data you gather worthless, so think carefullyabout who fills 

in your questionnaires. 
e) We did an online survey but we didn9t get many _______________. Most of thevisitors to our 

website aren9t customers. 
f) Once the product development department has created a _______________, wecan display it at 

trade fairs. I9m sure it will attract more people to our stand. 
 
 

�D4>F<G5E>>5 7444=<5 4 
�5=5465D >><?4=<<, ?D54>EF46?ONM5= GE?G7< E6O7<, >?<EO645F E6><< >>??574< 

«<4D>5F<=7>6O= >><??5>E» («marketing mix») =>6>7> ?D>4G>F4. �D>G<F4=F5 <>=>?>7, 
6O?<L<F5 <7 F5>EF4 DD47O, >>F>DO<< <>6=> 5O?> 5O 74?>?=<FL F45?<FG 

 
Marketing mix 

Product __________________________________________________________ 
__________________________________________________________ 
__________________________________________________________ 
__________________________________________________________ 
 

Price __________________________________________________________ 
 

Placement __________________________________________________________ 
 

Promotion __________________________________________________________ 
__________________________________________________________ 
 

 
The key factors of our cable package are that you get everything you need to connect to the Internet, 

and that your connection is faster than anything you can get anywhere else. You can email videos in just 
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seconds, instead of minutes or hours. Customers also get free webspace and can use our webpage design 
program. And finally, our software automatically scans all incoming emails for viruses. 

We will be reaching customers through ads on websites and in magazines starting in September. 
Our product will then be immediately available to customers in major metropolitan areas across Europe. 
We will guarantee that customers will have all hardware and be able to use our modems within 48 hours 
of placing an order. 

We haven9t fixed a price yet, but this will be decided in the next week or two. Because our product 
is in the introduction phase, our pricing model should win us as many customers as possible, as quickly as 
possible. 

 
 

�D4>F<G5E>>5 7444=<5 5 
�O 6<4<F5 464 E?<E>4 E?>6: E>54<=<6 >4=> <7 E?>6 ?5D6>7> E?<E>4 E >4=<< <7 E?>6 

6F>D>7> E?<E>4, 6O ?>?GG<F5 E?>6>E>G5F4=<5, >>F>D>5 E>>F65FEF6G5F >4=>= <7 45D<=<F<=, 
?D<6545==OE =<65. �O?<L<F5 4?O >464>= 45D<=<F<< ?>4E>4OM55 E?>6>E>G5F4=<5 

 
�D<<5D: E?>6> media<7 ?5D6>7> E?<E>4 >5D47G5F E> E?>6>< mentions<7 6F>D>7> EF>?5F4 

E?>6>E>G5F4=<5 media mentions, >>F>D><G E>>F65FEF6G5F 45D<=<F<O d. 
 
1) media, customer, brand, product, strong, primary, public; 
2) knowledge, line, mentions, relations, responsibility, service, strategies. 
 
a) a related series of items sold by a company (e.g. education software titles offered by a publisher), 
b) the department that deals directly with consumers, 
E) communication with the general public, 
d) items where the company9s name is seen in newspapers, magazines, and websites, 
e) main task or function, 
f) good understanding, 
g) ways of promoting a brand. 
 
a) ______________, b) ______________, c) ______________, d) media mentions, 

e) ______________, f) ______________, g) ______________. 
 

�D<F5D<< < L>4?4 >F5=>< 6O?>?=5=<O ?D4>F<G5E><E 7444=<= 
�F5=>4 «>F?<G=>» 6OEF46?O5FEO EFG45=FG, 5E?< >= E4<>EF>OF5?L=> < ?D46<?L=> 6O?>?=<? 

?D4>F<G5E>>5 7444=<5, E?>E>55= G65D5==>, ?>7<G=>, ?>E?54>64F5?L=> < 4D7G<5=F<D>64==> 
>5NOE=<FL E6>< D5L5=<O, ?>?L7GOEL ?D>D5EE<>=4?L=O<< F5D<<=4<<. 

�F5=>4 «E>D>L>» 6OEF46?O5FEO EFG45=FG, 5E?< ?D< 6O?>?=5=<< 7444=<O >= 4>?GEF<? 465-FD< 
>L<5><, >4=4>> ?D< G>474=<< =4 MF< >L<5>< E<>7 ?57>> <E <E?D46<FL < >5NOE=<FL, ?>G5<G >=< 
5O?< 4>?GM5=O. 

�F5=>4 «G4>6?5F6>D<F5?L=>» 6OEF46?O5FEO EFG45=FG, 5E?< ?D< 6O?>?=5=<< 7444=<O >= 
4>?GEF<? 5>?55 FD5E >L<5>>, E FDG4>< E?>E>55= >5NOE=<FL, ?>G5<G MF< >L<5>< 5O?< 4>?GM5=O. 

�F5=>4 «=5G4>6?5F6>D<F5?L=>» 6OEF46?O5FEO EFG45=FG, 5E?< >= =5 6O?>?=<? ?D4>F<G5E>>5 
7444=<5 <?< 6O?>?=<? E 7DG5O<< >L<5>4<<. 
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&<?>6O5 7444=<O 4?O ?D><56GF>G=>= 4FF5EF4F<< (74G5F4) 
�4 74G5F ?D54EF46?O5FEO >><??5>E 7444=<=, E6O74==OE 54<=>= F5<>=, >464>5 ?>E?54GNM55 

7444=<5 ?D54?>?4745F 7=4=<5 <4F5D<4?4 ?D54O4GM57>, ?>MF><G 7444=<O 4>?6=O 6O?>?=OFLEO 
?>E?54>64F5?L=> 3 >4=> 74 4DG7<< 

 
�444=<5 1 

�D54EF46LF5 E555 E<FG4F<N: �4DF<= 3 <5=5465D >><?4=<<, ?D54>EF46?ONM5= GE?G7< 
<=F5D=5F-E6O7<. �= E>5<D45FEO >D74=<7>64FL E>5D4=<5, GF>5O >5EG4<FL E >>??574<< F5=G 

=>6>7> ?4>5F4 GE?G7. �= =4?<E4?<< M?5>FD>==>5 ?<EL<>, => ?D54?>65=<O 6 =5< D4EEF46?5=O  
6 =5?D46<?L=>< ?>DO4>5. �?D545?<F5 65D=O= ?>DO4>> ?D54?>65=<= 

 
4) Could you have a look and let me know if there9s anything you9d like to add or change? 
b) As you probably know, we need to think about scheduling a meeting to discuss our 

pricingstrategy for our new cable Internet package. 
E) Hope you all had a nice weekend. 
d) Please let me know if you can attend by the end of the day. 
e) How about next Tuesday at 9 a.m.? 
f) I9m also attaching an outline of what I9d like to talk about. 
 
1 3 ___, 2 3 ___, 3 3 ___, 4 3 ___, 5 3 ___, 6 3 ___. 
 
 

�444=<5 2 
�4DF<=, > >>F>D>< <O G7=4?< <7 7444=<O 1, ?>?GG<? FD< >F65F4 =4 E6>5 M?5>FD>==>5 ?<EL<>, 
6 >>F>D>< >= ?D>E<? >>??57 E>5D4FLEO =4 E>65M4=<5 < ?>E<>FD5FL ?D<>D5??5==O= > ?<EL<G 

D4=?. �4?>?=<F5 ?D>?GE>< 6 ?<EL<4E E?>64<<, 6O45?5==O<< >GDE<6>< 
 
attachment, attend, best, cheers, hope, input, mind, postpone, see 

 
Email 1 
Hi! 
Just wanted to let you know that I can  __________1the meeting. I9ve looked at your outline and 

can9t think of anything to add. __________2you on Tuesday. 
 
Email 2 
Hello Martin! 
I9m still at the conference in Darmstadt and won9t be back in town until Wednesday. 
Would it be possible to __________3 the meeting? I9m back in the office on Thursday and free all 

day. If not, I9ll send you my ideas by email. By the way, I couldn9t open the __________4. Couldyou send 
it again in a different format? 

__________5 
  
Email 3 
Hi Martin! 
Tuesday morning is fine for me. I noticed that you didn9t send your message to Laura. Wouldyou 

__________6 if I invited her to joinus? It might be useful to have her __________7 .I9ll have a look at 
theattachment and will get in touch if there9s anything missing. 

__________8 you had a nice weekendtoo. 
All the__________9 
Graham 
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�444=<5 3 
�4DF<=, E M?5>FD>==>= ?5D5?<E>>= >>F>D>7> 6O D45>F4?< 6 7444=<< 1 < 2, ?D<>D5?<? > 
?<EL<G D4=? E 6>?D>E4<<, >>F>DO5 >= ??4=<DG5F >5EG4<FL E >>??574<< =4 E>65M4=<<. 

�D>G<F4=F5 F5>EF D4=?4, =4=4<F5 6 =5< E?>64 <?< E?>6>E>G5F4=<O, >>F>DO5 E>>F65FEF6GNF 
>?D545?5=<O<, ?D<6545==O< ?>4 F5>EF>< 

 
Cable Internet package pricing model. 
I have a few questions I9d like everyone to think about in advance of the meeting. As you know, 

we9re introducing a new DSL package, and we need to decide what we should be charging for our 
services. Some points lo consider are: 

" What should our pricing model be? A monthly flat fee or charge by data volume? 
" Do we want to offer different prices in different regions? 
" Should we bundle our services and offer a discount? 
" What about adopting a penetration pricing strategy for the roll-out? How long should these prices 

be valid for (3 months, 6 months...)? 
" What optional extras shall we offer (e.g. guaranteed 24-hour servicing)? 
Please think about these questions, and we can discuss everything in more detail. 
 
Definitions. 
1) when a customer pays the same fee each month / year / etc., 
2) to sell a group of things (like products or services) as a package, 
3) reduced price, 
4) another word for product launch, 
5) enhanced features or services that customers have to pay more money for. 
 
1 3 ___________, 2 3 ___________, 3 3 ___________, 4 3 ___________, 5 3 ___________. 
 
 

�444=<5 4 
� 7444=<< 3 �4DF<=G?><<=45F «penetration pricing». �4=4<F5 ED54< ?D54EF46?5==OE 

45D<=<F<= >?D545?5=<5 MF>= <>45?< F5=>>5D47>64=<O < ?OF< 4DG7<E <>45?5=. %>?>EF46LF5 
=4764=<O <>45?5= F5=>>5D47>64=<O < <E 45D<=<F<< 

 
1) captive product pricing, 
2) economy pricing, 
3) geographical pricing, 
4) penetration pricing, 
5) premium pricing, 
6) price skimming. 
 
a) pricing goods/services as cheaply as possible, 
b) charging a high price for an item where you have acompetitive advantage, 
E) charging a high price for a unique high-quality item, 
d) pricing goods at a very low price to encourage people tobuy them 3 often the prices are later 

raised, 
e) pricing according to area where goods are sold, 
f) pricing one item very low and its complement very high. 
 
1 3 ___, 2 3 ___, 3 3 ___, 4 3 ___, 5 3 ___, 6 3 ___. 
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�444=<5 5 
�D>G<F4=F5 6OE>47O64=<O <5=5465D>6 > F>64D4E < GE?G74E, >?D545?<F5, >4>>= <7 <>45?5= 

F5=>>5D47>64=<O, ?5D5G<E?5==OE 6 7444=<< 4, E>>F65FEF6G5F >464>5 6OE>47O64=<5 
 
1) captive product pricing, 
2) economy pricing, 
3) geographical pricing, 
4) penetration pricing, 
5) premium pricing. 
 
a) Naturally we need to price our goods lower in countries with a lower per-capita income. 
b) We at Chamonix Ecrit believe the quality of our pens justifies their cost. 
c) These low prices will only be in effect for the first six months. After that they will be raised by 

10325%. 
d) Yes, the printers we sell are inexpensive, but we charge quite a bit for the ink cartridges. 
e) Our own-label brands sugar, flour and milk have much lower prices than the brand-name 

competitors. 
 
1 3 ___, 2 3 ___, 3 3 ___, 4 3 ___, 5 3 ___. 
 

�D<F5D<< >F5=>< 74G5F4 
�F5=>4 «74GF5=>» EF46<FEO EFG45=FG, 5E?< >= 6O?>?=<? 6E5 7444=<O557 >L<5>> <?< 4>?GEF<? 

=5 5>?55 G5FOD5E >L<5>>, ?D< MF>< 6 E?GG45 G>474=<O =4 >L<5>G EFG45=F 4>?65= 5OFL 6 
E>EF>O=<< E4<>EF>OF5?L=> <E?D46<FL 55 E ?><>MLN =46>4OM<E 6>?D>E>6 ?D5?>4464F5?O. 

�F5=>4 «=574GF5=>» EF46<FEO, 5E?< EFG45=F =5 6O?>?=<? E>FO 5O >4=> <7 7444=<=, <?< ?D< 
6O?>?=5=<< 7444=<= 4>?GEF<? 5>?55 G5FOD5E >L<5>>, <?< 4>?GEF<? <5=55 G5FOD5E >L<5>>, => =5 
E<>7 >5NOE=<FL, ?>G5<G MF< >L<5>< 4>?GM5=O < >4> <E <E?D46<FL, 4465 ?>E?5 >>=EG?LF4F<< E 
?D5?>4464F5?5<. 

 

 
�5D5G5=L F<?>6OE 6>?D>E>6 4?O ?D><56GF>G=>= 4FF5EF4F<< (M>74<5=4) 

 
1. � 64L5= >><?4=<< >EGM5EF6?ONFEO D47?<G=O5 6<4O 45OF5?L=>EF<, >>F>DO5 =47O64NFEO =4 

4=7?<=E>>< O7O>5 E?54GNM<< >5D47><: «doing market research», «drawing up a marketing plan», 
«liaising with the sales department», «providing support for customer service», «writing press 
releases»,«presenting at a trade fair», «commissioning advertising».�E4D4>F5D<7G=F5 >D4F>> >464O= <7 
6<4>6 45OF5?L=>EF<. 

2. &5D<<= «branding» >5OG=> ?5D56>4<FEO >4> «?D>F5EE D>D<<D>64=<O <<<464 >><?4=<<, 55 
5D5=44». �4=4>> 6 4=7?<=E>>< O7O>5 5EFL <=>7> 6OD465=<= E> E?>6>< «brand». �4=F5 >?D545?5=<5 
E?54GNM<E E?>6>E>G5F4=<=: «brandawareness», «brandequity», «brandextension», «brandidentity», 
«brandimage», «brandloyalty», «brandname», «derivedbrand». 

3. �D54EF46LF5 E555, GF> 6O D45>F45F5 6 =>6>< FGD<EF<G5E>>< 475=FEF65, >=> ?>7<F<>=<DG5F 
E55O >4> D<D<4, ?D<>D<F5F >>F>D>= 3 ?<G=>5 >5M5=<5 E >464O< >?<5=F><. �4< ?D54?474NF 
?D>65EF< <4D>5F<=7>6>5 <EE?54>64=<5, GF>5O <7GG<FL <=F5D5EO < ?D54?>GF5=<O ?>F5=F<4?L=OE 
>?<5=F>6. �4<?D54>EF46?5=6O5>DE?>E>54E5>D444==OE: postal survey, online survey, street 
interviews. $4EE>46<F5, >4><54>EF><=EF64 (advantages) < =54>EF4F>< (disadvantages) 5EFL G 
>464>7>E?>E>54. 

4. �4<=G6=>>?<E4FL?D>F5EED47D45>F><<4D>5F<=7>6>7>??4=4D476<F<O, =4?D<<5D, 
=55>?LL>=7>EF<=<FO=4<>DE>><>GD>DF5. %>EF46LF5<>=>?>7=4>E=>65>?>D=OEDD47: «current 
position»,«situation analysis», «analysis of competitors», «problems and opportunities», «sales projection 
and costs», «benchmarking», «objectives», «implementation». 
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5. �4< =5>5E>4<<> E>EF46<FL «marketingmix» 4?O 64L5= D<D<O, >>F>D4O 74=<<45FEO 
?D>4465= F5??>= >4564O 4?O 4?<F5?L=OE ?>E>4>6 ?> ?5D5E5G5==>= <5EF=>EF<. �?<L<F5 
6>7<>6=O= «marketingmix», <E?>?L7GO E?54GNM<5 6>?D>EO: «Product. What are the important 
aspects of your product? Why do people want to buy your product? Price. What factors affect your price? 
Placement. When and where is your product available to customers? Promotion. List the ways in which 
you reach customers. What are your contact points?». 

6. � 45?>6>< 4=7?<=E>>< O7O>5 G4EF> <E?>?L7GNFEO D47?<G=O5 E?>6>E>G5F4=<O, 
>?D545?ONM<5 E?>E>5 D>D<<D>64=<O F5=O =4 ?D>4G>FO <?< GE?G7<. �5NOE=<F5 7=4G5=<5 
E?54GNM<E E?>6>E>G5F4=<= E> E?>6>< «pricing»: «captive product pricing», «economy pricing», 
«geographical pricing», «penetration pricing», «premium pricing», «price skimming». 

7. �765EF=O= <=EFDG<5=F EFD4F57<G5E>>7> 4=4?<74 < ??4=<D>64=<O 6 <4D>5F<=75 «Boston 
Matrix» ?D54EF46?O5F E>5>= >644D4F, D4745?5==O= =4 G5FOD5 E5>F>D4, >>F>DO5 >747?46?5=O 
<5F4D>D<G5E><: «Cash cows», «Stars», «Question Marks», «Poor dogs». $4EE>46<F5 > 7=4G5=<< MF<E 
<5F4D>D. 

8. �D54EF46LF5 E555, GF> 64L4 >><?4=<O 74=<<45FEO >D74=<74F<5= >F4OE4 6 7>D4E. � F5?OE 
?D>46<65=<O GE?G7< 64< ?D54?474NF ?>EFD><FL D5>?4<=GN >><?4=<N =4 >E=>65 46GE ?D<=F<?>6: 
«reinforce the existing image» < «generate a buzz». �?<L<F5 D54?<74F<N MF<E ?D<=F<?>6. 

9. %?<E>> E>65F>6 ?> =4?<E4=<N «killer press release» («G5>==>7> ?D5EE-D5?<74») >5OG=> 
6>?NG4NF E?54GNM<5 ?G=>FO: «1. Keep things real. 2. See the story from the reporter9s point of view. 
3. Create a catchy headline. 4. Proofread carefully. 5. Keep it short». �4=F5 D4765D=GFO= >><<5=F4D<= 
>464>7> ?G=>F4. 

10. �O 4>?6=O ?>47>F>6<FL ?D575=F4F<>==O= ?46<?L>= 64L5= D<D<O =4 F>D7>6>= 6OEF46>5 
(OD<4D>5). �?<L<F5 ?D>F5EE ?>47>F>6><, <E?>?L7GO >?>D=O5 E?>6>E>G5F4=<O: exhibition stand,high 
profile visitors,editorial coverage, prospects, key publications, additional audience. 

 
 

&<?>6O5 ?D4>F<G5E><5 7444=<O 4?O ?D><56GF>G=>= 4FF5EF4F<<(M>74<5=4) 
�4 M>74<5=5, >4> < =4 74G5F5, EFG45=F4< 445FEO >><??5>E=>5 7444=<5, >5N54<=ONM55 =5E>>?L>> 

7444=<= ?> >4=>= <7 <7GG5==OE F5<. �464>5 ?>E?54GNM55 7444=<5 E6O74=> E ?D54O4GM<<, 
?>MF><G 7444=<O 4>?6=O 6O?>?=OFLEO ?>E?54>64F5?L=> 3 >4=> 74 4DG7<< 

 
�444=<5 1 

�><?4=<O «Joys of Germany» E>5<D45FEO ?D54?>6<FL <=>EFD4==O< FGD<EF4< =>6O5 6<4O 
FGD<EF<G5E><E GE?G7. �4<= <7 55 E>FDG4=<>>6�4DEF5= >F?D46<?EO 6 �>=4>=, GF>5O 
6EFD5F<FEO E ?D54EF46<F5?5< 475=FEF64 «Red Arrow» &D5=E<, >>F>D4O 74=<<45FEO 

>D74=<74F<5= >><?4=<= ?> ?D>46<65=<N ?D>4G>F>6 < GE?G7. �D>G<F4=F5 4<4?>7, >F65FLF5 
=4 6>?D>EO 

 
Tracy.Ok, so tell me what you9re looking for. 
Carsten. Well. We want to do something a bit moreinteresting than sausages and the Black Forest. 

Most of our market research shows that Germany still has a boring, traditional image abroad. As we 
showed during the World Cup. we have the tourist infrastructure and lots of attractions but Italy, for 
example, still attracts far more foreign tourists than we do. 

Tracy. Maybe because of the weather? 
Carsten. That9s one reason, I agree. But that9s why it9s important for us to create a new image. We 

need to remind people that a holiday doesn9t have to be hot to be fun. 
&raEG. Interesting. Tell me more. 
Carsten. Well we9d like to go beyond the stereotypes. Great composers, the Oktoberfest, white 

wines... The people who are interested in these things are already coming to Germany. We need to attract 
new visitors who aren9t yet aware of the other side of Germany. 

Tracy. I see. So why do you want to work with us? 
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Carsten. We want to work with someone based in the UK. We think that someone from outside 
will have a fresh perspective and be able to rebrand us better. Every country has its advertising culture 
and we want to make sure our ads appeal to people in the UK. 

Tracy. Ok, I understand what you9re trying to achieve. And if I may say so, I think that you9re 
right. Advertising norms are different in each country, and you need an insider to design an ad campaign 
with the maximum appeal. 

 
Questions. 
1. According to joys of Germany, what sort of image does Germany have abroad? 
2. What do they say are the stereotypes associated with Germany? 
3. What kind of visitors does Joys of Germany want to attract to Germany? 
4. Why is it important to design advertising which is specific to a certain country? 
 

 
�444=<5 2 

�E?>?L7G=F5 6E5 6O45?5==O<< >GDE<6>< E?>64, GF>5O 74?>?=<FL ?D>?GE>< 6 ?D54?>65=<OE 
<7 4<4?>74, >>F>DO= 6O ?D>G<F4?< 6 7444=<< 1 

 
achieve,appeal,appeal,campaign,create,looking,outside,perspective 
 
Tell me what you9re __________1for. 
But that9s why it9s important for us to __________2a new image. 
We think that someone from __________3will have a fresh __________4. 
We want to make sure our ads __________5to people in the UK. 
Iunderstand what you9re trying to __________6. 
You need an insider to design an ad __________7with the maximum __________8. 
 
1 3 _________, 2 3 _________, 3 3 _________, 4 3 _________, 5 3 _________, 6 3 _________, 

7 3 _________, 8 3 _________. 
 

 
�444=<5 3 

%>FDG4=<>< 475=FEF64 «Red Arrow», > >>F>DOE 6O 7=45F5 <7 7444=<O 1, D5L<?< 
>5EG4<FL D5>?4<=GN >4<?4=<N 4?O ?D>46<65=<O =>6OE FGD<EF<G5E><E GE?G7 >><?4=<< 

«Joys of Germany». �D>G<F4=F5 4<4?>7 < 6O55D<F5 <7 =57> =4764=<O D5>?4<=OE ED54EF6 < 
<4F5D<4?>6, >>F>DO5 <>6=> 5O?> 5O 74?<E4FL 6 7D4DO F45?<FO 

 
Print media Online Outdoor Other 
    
    
    

 
Tracy. As far as traditional channels go, I think they should focus on print media, especially 

magazines, and possibly the travel sections of some larger newspapers.  
Justin. That makes sense. Magazines and newspapers often devote an issue to travel, and that 

would be a good opportunity to highlight Germany. What about TV ads?  
Tracy. I don9t think that9s a good idea. Just an ad or two will use up almost the entire budget, and 

we can9t afford the repeat exposure that a good ad campaign would need.  
Justin. That9s true. Banner ads, on the other hand, would make sense. People often go online to 

travel portals like Expedia and Hotwire without knowing where they want to travel to. They just want to 
go somewhere for the weekend. Seeing our ads would encourage them to check out Germany. 
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Tracy. Good point. And what about postcards? I can see those being very effective with a campaign 
like this. We could have different themes for different venues: highlight outdoor activities for postcards 
distributed in gyms, for example.  

Justin. Yes, and postcards are popular among the 18335 group, which «Joys of Germany» are 
targeting. We could also do bus ads in major UK cities.  

Tracy. Ok, so I think our task is clear. We need eye-catching images and a good slogan that we can 
use in a variety of places. 

 
Print media: __________________________ 
Online: ______________________________ 
Outdoor: ____________________________ 
Other: ______________________________ 
 

 
�444=<5 4 

�O 6<4<F5 464 E?<E>4 E?>6: E>54<=<6 >4=> <7 E?>6 ?5D6>7> E?<E>4 E >4=<< <7 E?>6 
6F>D>7> E?<E>4, 6O ?>?GG<F5 ?D<6OG=>5 4?O <4D>5F>?>74 E?>6>E>G5F4=<5. �4?>?=<F5 

?>4E>4OM<<< ?> E<OE?G E?>6>E>G5F4=<O<< ?D>?GE>< 6 ?D54?>65=<OE 
 

�D<<5D: E?>6> eye-catching<7 ?5D6>7> E?<E>4 >5D47G5F E> E?>6>< images<7 6F>D>7> EF>?5F4 
E?>6>E>G5F4=<5 eye-catching images, >>F>D>5 <>6=> ?>EF46<FL =4 <5EF5 ?D>?GE>4, >5>7=4G5==>< 
F<DD>=. 

 
1) eye-catching, to devote, good, to make, print, repeat, traditional; 
2)an issue to something, channels, exposure,images, media, opportunity, sense. 
 
Our area newspaper often ______________1to presenting local businesses, and many ofthe 

shopowners see this as a______________2to advertise. 
______________3 is essential for getting your message across to customers, if they onlysee your 

advertisement once, they won9t remember it. 
We operate on a very tight budget, so for us it doesn9t______________4 to advertise 

on______________5 such as radio or television. We focus on online marketing instead. 
What I like most about our new ad campaign are the eye-catching images

6.No one could forget that 
picture of the penguin and the dog! 

One of the disadvantages of advertisements in______________7 is sometimes your advert gets 
8lost9, for example when there are several of them on the same page. 

 
1 3 _____________, 2 3 ____________, 3 3 ____________, 4 3 ____________, 5 3 ___________, 

7 3 ___________. 
 
 

�444=<5 5 
�?O E>744=<O ?>>G?4F5?LE>>7> E?D>E4 D47?<G=O5 D<D<O <E?>?L7GNF ?5D5G<E?5==O5 =<65 

<4D>5F<=7>6O5 EFD4F57<<. %>?>EF46LF5 6OE>47O64=<O ?D54EF46<F5?5= D<D< E 
E>>F65FEF6GNM<<< MF<< 6OE>47O64=<O< EFD4F57<O<< 

 
4) change perceptions, b) generate a buzz, E)to have an emotional appeal, d)to have a rational 

appeal, e) rebrand, f) reinforce the existing image. 
 
1. White Noise9s portable music players aren9t popular because they9re the cheapest or even the 

most technologically advanced products out there. Rather, they9re popular because, quite simply, people 
love them. The new ad campaign should attract people based on how they feel. 
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2. The advertisements should make a logical argument. Viewers should buy our toothpaste because 
it9s scientifically proven to be the best in the industry. 

3. We want to get people talking about our product. 
4. The ads should transform people9s ideas about Germany. 
5. Choritos are currently thought of as a high-fat snack. We need to reinvent our product as healthy 

and convenient. 
6. Our minivans already dominate the market, and they9re still in the growth stage of their life cycle. 

So the ads should simply emphasize what people already think: that they9re both safe and fun to drive. 
 
1 3 ___, 2 3 ___, 3 3 ___, 4 3 ___, 5 3 ___, 6 3 ___. 
 

�D<F5D<< < L>4?4 >F5=>< M>74<5=4 
�F5=>4 «>F?<G=>» EF46<FEO, 5E?< EFG45=F ?D46<?L=> >F65F<? =4 464 >>=FD>?L=OE 6>?D>E4 < 

?>?=>EFLN < 557 >L<5>> 6O?>?=<? 6E5 7444=<O. 
�F5=>4 «E>D>L>» EF46<FEO, 5E?< EFG45=F ?D46<?L=> >F65F<? =4 >>=FD>?L=O5 6>?D>EO, => 

?D< 6O?>?=5=<< 7444=<= EFG45=F 4>?GEF<? 4> G5FOD5E >L<5>>, >4=4>> <>65F <E?D46<FL <E 
E4<>EF>OF5?L=>, 5E?< ?D5?>4464F5?L G>474? =4 MF< >L<5><. �F5=>4 «E>D>L>» F4>65 EF46<FEO, 5E?< 
EFG45=F ?D46<?L=> 6O?>?=<? 6E5 ?D4>F<G5E><5 7444=<O, => =5 E<>7 >F65F<FL =4 >4<= <7 46GE 
?D54?>65==OE >>=FD>?L=OE 6>?D>E>6. 

�F5=>4 «G4>6?5F6>D<F5?L=>» EF46<FEO, 5E?< EFG45=F ?D46<?L=> >F65F<? E>FO 5O =4 >4<= <7 
>>=FD>?L=OE 6>?D>E>6, => ?D< 6O?>?=5=<< 7444=<O 4>?GEF<? >F ?OF< 4> E5<< >L<5>> <E FDG4>< 
E?D46?O5FEO E <E?D46?5=<5< >L<5>> 4465 ?D< >>=EG?LF4F<< E ?D5?>4464F5?5<.  

�F5=>4 «=5G4>6?5F6>D<F5?L=>» EF46<FEO, 5E?< EFG45=F 4>?GEF<? 5>?55 E5<< >L<5>> < (<?<) 
4>?GEF<? >F ?OF< 4> E5<< >L<5>>, => =5 <>65F <E <E?D46<FL 4465 ?>E?5 >5NOE=5=<=, >>F>DO5 5<G 
445F ?D5?>4464F5?L. 

 
 

8. ''����-��&���'�%��� � ��$�$��&������ ���%��'���� 
��%&�����/ 

 
8.1. �E=>6=4O ?<F5D4FGD4 
�>D>5L564, %. �.  �=7?<=E><= O7O> 4?O MDD5>F<6=>7> <5=546<5=F4. 

GuidelinesforBetterManagementSkills : GG55=>5 ?>E>5<5 4?O 6G7>6 / %. �. �>D>5L564. 4 2-5 <74., 
<E?D. < 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2023. 4 260 E. 4 (�OEL55 >5D47>64=<5). 4 
ISBN 978-5-534-04198-9. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 
URL: https://urait.ru/bcode/514835. 

%<<D=>64, �. �.  �=7?<=E><= O7O> 4?O <5=5465D>6 (B14B2) : GG55=<> 4?O 6G7>6 / 
�. �. %<<D=>64, �. �. %>>>?>64, .. �. �G7?4E. 4 �>E>64 : �744F5?LEF6> .D4=F, 2023. 4 185 E. 4 
(�OEL55 >5D47>64=<5). 4 ISBN 978-5-534-08395-8. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O 
??4FD>D<4 .D4=F [E4=F]. 4 URL: https://urait.ru/bcode/516893. 

 
8.2. �>?>?=<F5?L=4O ?<F5D4FGD4 
�>L=O74, �. �.  �=7?<=E><= O7O> 4?O <7GG4NM<E FGD<7< (A2-B1+) : GG55=>5 ?>E>5<5 4?O 

6G7>6 / �. �. �>L=O74. 4 6-5 <74., <E?D. < 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2023. 4 267 E. 4 
(�OEL55 >5D47>64=<5). 4 ISBN 978-5-534-10436-3. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O 
??4FD>D<4 .D4=F [E4=F]. 4 URL: https://urait.ru/bcode/516934. 

�G?F>64, �. �.  �=7?<=E><= O7O> 4?O <5=5465D>6 < ?>7<EF>6 (B1-C1) : GG55=<> < ?D4>F<>G< 
4?O 6G7>6 / �. �. �G?F>64, �. �. �>7?>64, .. �. �>?O=5F ; ?>4 >5M5= D544>F<5= �. �. �G?F>6>=. 4 
2-5 <74., <E?D. < 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2023. 4 355 E. 4 (�OEL55 >5D47>64=<5). 4 
ISBN 978-5-534-08147-3. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 
URL: https://urait.ru/bcode/511221. 



8.3.  �D>7D4<<=>5 >55E?5G
Microsoft Windows <?</=4
Microsoft Office Professiona
Google Chrome <?< /=45>E
�<=>> 
 
8.4.  �D>D5EE<>=4?L=O5 5
�564G=4D>4=4O D5D5D4F<6

 https://www.clarivate.ru/products/
 
8.5. �=D>D<4F<>==O5 E?D
%?D46>G=>-?D46>64O E<EF5<
�><E>>6O5 E<EF5<O 

�><E>>64O E<EF5<4 Google 
�><E>>64O E<EF5<4 Yandex
�><E>>64O E<EF5<4 Ramble
 
8.6. �=F5D=5F-D5EGDEO 
�4<=4O >>??5>F<O F<DD>6O
-?5>FD>==4O 5<5?<>F5>4 «�
&<DD>6>= >5D47>64F5?L=O
�4GG=4O M?5>FD>==4O 5<5?
�>DF4? >F>DOFOE 44==OE 
�4GG=4O M?5>FD>==4O 5<5?
�4F<>=4?L=4O -?5>FD>==4O
 

8.7. �5F>4<
 

�5F>4<G5
�E=>6=>5 =47=4G5=<5 ?D4>

GF5=<O, ?5D56>44, ?>=<<4=<O 
>><<G=<>4F<< 6 GEF=>= < ?<EL
74=OF<N ?D54?474NFEO F5>EFO 4
7444=<= > F5>EF4<, 4 F4> 65 7D4<
�D><5 F>7>, GG4EF<5 6 ?D4>F<G5
=46O>>6 D45>FO E ?>?GG5==>= <=

�D< ?>47>F>6>5 > ?D4>F<G5
- >D74=<74F<>==O=;   
- 74>D5??5=<5 <4F5D<4?4. 
�4 ?5D6>< MF4?5 EFG45=F ??
- GOE=5=<5 7444=<O 4?O E4<
- ?>45>D D5>><5=4>64==>=
- E>EF46?5=<5 ??4=4 D45

?>47>F>6><.  
%>EF46?5=<5 ??4=4 4<EF<?
�F>D>= MF4? 6>?NG45F =5?>
�4G<=4FL =44> E <7GG5=<O 

F5>D5F<G5E><E 6>?D>E>6 ?> 7D4<
6=<<4=<5, >?D545?O5FEO ?D5?>
?D>6545=<O E>>F65FEF6GNM57> 
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5E?5G5=<5  
?</=45>E 360 
ssional Plus 2019 
=45>E.�D4G75D 

=O5 547O 44==OE 
5D4F<6=4O 5474 6GD=4?>6 < EF4F5= Web of Scienc
ducts/web-of-science/  

5 E?D46>G=O5 E<EF5<O 
E<EF5<4 «�>=EG?LF4=F�?NE» 3 http://www.consult

oogle 3 https://www.google.ru/ 
andex 3 https://www.yandex.ru 
ambler 3 http://www.rambler.ru 

DD>6OE >5D47>64F5?L=OE D5EGDE>6 - http://schoo
F5>4 «�E5 GG55=<><» - http://www.vse-ychebniki.r
5?L=O= D5EGDE IPRsmart» - http://www.iprbooksho
 5<5?<>F5>4 - http://www.elibrary.ru/ 
=OE 3 https://data.gov.ru/ 
 5<5?<>F5>4 «�<55D?5=<=>4» - http://cyberlenink
D>==4O �<5?<>F5>4 (�-�)- https://rusneb.ru 

5F>4<G5E><5 G>474=<O ?> >E6>5=<N 4<EF<??<

>4<G5E><5 G>474=<O > ?D4>F<G5E><< 74=OF<O
5 ?D4>F<G5E><E 74=OF<= 74>?NG45FEO 6 6OD45>F
4=<O 4=7?>O7OG=OE F5>EF>6, ?D<<5=5=<O 

< ?<EL<5==>= D>D<5. �?O MF>7> EFG45=F4< > 
EFO 4?O GF5=<O, ?5D56>44 < >5EG645=<O < ?D4>
5 7D4<<4F<G5E><= <4F5D<4? < G?D46=5=<O =4 7
>F<G5E><E 74=OF<OE ?D54?>?4745F >FD45>F>G < 

<=D>D<4F<5=, 6545=<O 4<E>GEE<=, E>55E54>
4>F<G5E>><G 74=OF<N <>6=> 6O45?<FL 2 MF4?4:  

.  
5=F ??4=<DG5F E6>N E4<>EF>OF5?L=GN D45>FG, >

E4<>EF>OF5?L=>= D45>FO;  
4==>= ?<F5D4FGDO;  

D45>FO, 6 >>F>D>< >?D545?ONFEO >E=>6=O

<EF<??<=<DG5F < ?>6OL45F >D74=<7>64==>EFL 6
F =5?>ED54EF65==GN ?>47>F>6>G EFG45=F4 > 74=O
5=<O =>6>= ?5>E<><, 4 F4>65 >7=4>><<F5?L=>7>

7D4<<4F<G5E>>= F5<5, =4 >>F>DO5 EFG45=FO 4
?D5?>4464F5?5<, 654GM<< E>>F65FEF6GNM55 
M57> ?D4>F<G5E>>7> 74=OF<O) 4>6>4<FEO 4> E6

 

Science -

onsultant.ru/ 

/school-collection.edu.ru/ 
bniki.ru/ 
ookshop.ru/ 

rleninka.ru/ 

F<??<=O 

=OF<O< 
D45>F>5 G EFG45=F>6 =46O>>6 

 7=4=<= 7D4<<4F<>< 4?O 
4< > >464><G ?D4>F<G5E>><G 

?D4>F<G5E><5 7444=<O 6 6<45 
O =4 74>D5??5=<5 7D4<<4F<><. 
F>G < 74>D5??5=<5 EFG45=F4<< 
5E54>64=<= < F.?.  

F4?4:   

>FG, >>F>D4O 6>?NG45F:  

=>6=O5 ?G=>FO ?D54EF>OM5= 

>EFL 6 D45>F5.  
 > 74=OF<N.  
L=>7> GF5=<O F5>EF4. �5D5G5=L 
5=FO 4>?6=O >5D4F<FL >E>5>5 
M55 74=OF<5, < 74D4=55 (4> 

 4> E6545=<O >5GG4NM<EEO 6 
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GEF=>= <?< ?<EL<5==>= D>D<5. �D4<<4F<G5E><5 6>?D>EO F5<O >5OG=> D4EE<4FD<64NFEO < 
74>D5??ONFEO =4 ?D4>F<G5E>>< 74=OF<< ?D< 6O?>?=5=<< >>=>D5F=OE G?D46=5=<=. 

�444=<O, ?D54EF46?5==O5 ?> >464>= F5<5, <<5NF ?D4>F<>>->D<5=F<D>64==GN 
=4?D46?5==>EFL < ?D<764=O <4>E<<4?L=> ?D<5?<7<FL EFG45=F>6 > D54?L=O< GE?>6<O< ?D<<5=5=<O 
<=>EFD4==>7> O7O>4. �>E>>?L>G >E=>6=4O F5?L 7444=<= 74>?NG45FEO 6 6OD45>F>5 G EFG45=F>6 
E?>E>5=>EF< ?>=<<4FL ?<EL<5==GN < GEF=GN<=>EFD4==GN D5GL < =46O>>6 55 ?D<<5=5=<O, ?D< 
D5L5=<< 7444G< >5GG4NM5<GEO F5?5E>>5D47=> ?D<45D6<64FLEO E?54GNM5= EE5<O 45=EF6<=.  

� ?5D6GN >G5D54L, EFG45=FG E?54G5F FM4F5?L=> <7GG<FL 7444=<O < 6O45?<FL ED54< =<E 
?5>E<G5E>< FDG4=O5 <5EF4, 74F5< >?D545?<FL >4><5 7D4<<4F<G5E><5 >>=EFDG>F<< ?>4?564F 
?D<<5=5=<N 6 44==>= E<FG4F<<, ?>E?5 G57> 44FL D4765D=GFO5 < 7D4<<4F<G5E>< ?D46<?L=O5 
>F65FO. �O?>?=5=<5 7444=<= <>65F 5OFL ?D54EF46?5=> 6 ?<EL<5==>= <?< GEF=>= D>D<5. � E?GG45 
64D<4F<6=>EF< 6O?>?=5=<O 7444=<O E?54G5F >5>E=>64FL 6E5 6>7<>6=O5 64D<4=FO.     

� E6O7< E MF<< D45>F4 E D5>><5=4>64==>= ?<F5D4FGD>= >5O74F5?L=4. �E>5>5 6=<<4=<5 ?D< 
MF>< =5>5E>4<<> >5D4F<FL =4 E>45D64=<5 >E=>6=OE ?5>E<>>-F5<4F<G5E><E F5<, >5NOE=5=<5 
7D4<<4F<G5E><E =>D< < ?D46<? <=>EFD4==>7> O7O>4, GOE=5=<5 ?D4>F<G5E>>7> ?D<<5=5=<O 
D4EE<4FD<645<OE 7D4<<4F<G5E><E 6>?D>E>6. � ?D>F5EE5 MF>= D45>FO EFG45=F 4>?65= EFD5<<FLEO 
?>=OFL < 74?><=<FL >E=>6=O5 ?>?>65=<O D4EE<4FD<645<>7> 7D4<<4F<G5E>>7> < ?5>E<G5E>>7> 
<4F5D<4?4, ?D<<5DO, ?>OE=ONM<5 57>, D47>5D4FLEO 6 7444=<OE.  

�4>4=G<64FL ?>47>F>6>G E?54G5F E>EF46?5=<5< ??4=4 (?5D5G=O >E=>6=OE ?G=>F>6) ?> 
<7GG45<><G <4F5D<4?G (6>?D>EG). &4>>= ??4= ?>76>?O5F E>EF46<FL >>=F5=FD<D>64==>5, E64F>5 
?D54EF46?5=<5 ?> <7GG45<O< 6>?D>E4< < EFDG>FGD<D>64FL <7GG5==O= <4F5D<4?. 

� EFDG>FGD5 ?D4>F<G5E>>7> 74=OF<O FD44<F<>==> 6O45?ONF E?54GNM<5 MF4?O: 1) 
>D74=<74F<>==O= MF4?, >>=FD>?L <EE>4=>7> GD>6=O 7=4=<= (>5EG645=<5 6>?D>E>6, 6>7=<>L<E G 
EFG45=F>6 ?D< ?>47>F>6>5 > 74=OF<N;  2) <EE>4=O= >>=FD>?L (F5EFO, >?D>E, ?D>65D>4 ?<EL<5==OE 
4><4L=<E 7444=<= < F.4.), >>DD5>F<O 7=4=<= EFG45=F>6; 3) >5GG4NM<= MF4? (?D54NO6?5=<5 
4?7>D<F<4 D5L5=<O 7444=<=, <=EFDG>F<= ?> 6O?>?=5=<N 7444=<=, 6O?>?=5=<O <5F>4<> < 4D.); 
4) E4<>EF>OF5?L=4O D45>F4 EFG45=F>6 =4 74=OF<<; 5) >>=FD>?L >>=5G=>7> GD>6=O GE6>5=<O 7=4=<=; 
6) 74>?NG<F5?L=O= MF4?.   

�4 ?D4>F<G5E><E 74=OF<OE <>7GF ?D<<5=OFLEO E?54GNM<5 D>D<O D45>FO:  
" DD>=F4?L=4O 3 6E5 EFG45=FO 6O?>?=ONF >4=G < FG 65 D45>FG;  
" 7DG??>64O 3 >4=4 < F4 65 D45>F4 6O?>?=O5FEO 7DG??4<< <7 235 G5?>65>;  
" <=4<6<4G4?L=4O 3 >464O= EFG45=F 6O?>?=O5F <=4<6<4G4?L=>5 7444=<5.   
$>D<O ?D4>F<G5E>>7> 74=OF<O: 1) FD44<F<>==4O (GF5=<5 < ?5D56>4 F5>EF>6, >5EG645=<5 

E?>D=OE 6>?D>E>6 ?5D56>44, ?D>6545=<5 GEF=>7> >?D>E4 EFG45=F>6, <>=>?>7<G5E><5 6OE>47O64=<O 
EFG45=F>6; 2) <=F5D4>F<6=4O (E>EF46?5=<5 4<4?>7>6, 4<E>GEE<<, D>?56O5 <7DO).   

�=F5D4>F<6=O5 D>D<O ?D4>F<G5E>>7> 74=OF<O E?G6<F 4?O >>??5>F<6=>= >FD45>F>< 
?5>E<G5E>>7> < 7D4<<4F<G5E>>7> <4F5D<4?4 F5<. % MF>= F5?LN ?D5?>4464F5?5< EFG45=FO 
D475<64NFEO =4 D45>G<5 7DG??O 6 E>EF465 =5 5>?55 3 G5?>65> < << ?D54?4745FEO E>EF46<FL D4EE>47, 
>76GG<FL D<?L<, ?5D565EF< 6<7G4?L=GN =>65??G <?< ?D>65EF< D>?56GN <7DG, <<<F<DGNMGN 
GEF=GN >><<G=<>4F<N =4 <=>EFD4==>< O7O>5. �> >>>=G4=<< D45>FO 6 7DG??5 EFG45=FO 
?D575=FGNF ?>?GG5==O5 D57G?LF4FO. � D57G?LF4F5 GG4EF<O 6 D45>F5 6 7DG??4E EFG45=F4<< 
>FD454FO64NFEO =46O>< >><<G=<>4F<< 6 GEF=>= D>D<5 =4 <=>EFD4==>< O7O>5, >5<5=4 
<=D>D<4F<5= =4 <=>EFD4==>< O7O>5, 4 F4>65 ?D>D5EE<>=4?L=> 7=4G<<O5 =46O>< 674<<>45=EF6<O 
E 4DG7<<< ?<F4<< 6 D>D<5 E>FDG4=<G5EF64, 4>F<6=>7> E?GL4=<O.  

� F5G5=<5 74=OF<O EFG45=FG =5>5E>4<<> 6O?>?=<FL 7444=<O, 6O44==O5 ?D5?>4464F5?5<, 
6O?>?=5=<5 >>F>DOE 74G<FO645FEO, >4> F5>GM4O D45>F4 EFG45=F4.  

�4<= <7 646=OE 6<4>6 D45>FO =4 ?D4>F<G5E><E 74=OF<OE 3 ?5D56>4 F5>EF4. %GM5EF6GNF 
D47=O5 6<4O ?5D56>4>6 (GEF=O5, ?<EL<5==O5, F5E=<G5E><5, ?<F5D4FGD=O5), => >5M<5 ?D<=F<?O 
?5D56>44 6E5744 >4=< < F5 65.  

�D< ?5D56>45 F5>EF4 ?5D54 EFG45=F4<< 6EF45F =5E>>?L>> ?D>5?5<: =57=4=<5 7=4G5=<O E?>6 < 
?D46<? 7D4<<4F<><, =55>?LL>= 74?4E E<=>=<<>6, EFD4E ?5D54 5>?LL<< >5N5<>< F5>EF4. �D>F5EE 
?5D56>44 45?<FEO =4 GE?>6=O5 MF4?O.  
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1. �?O =4G4?4 =G6=> ?5D565EF< =4764=<5, ?D>G<F4FL <EE>4=O= F5>EF >F =4G4?4 4> >>=F4 < 
?>?OF4FLEO ?D< MF>< G?>6<FL, > G5< <45F D5GL.   

2. �4F5< =4G<=45FEO =5?>ED54EF65==> E4< ?5D56>4. �E5 =57=4>><O5 E?>64 6 >5O74F5?L=>< 
?>DO4>5 =G6=> 6O?<EO64FL 6 F5FD44L <?< =4 M?5>FD>==O= =>E<F5?L. -F> ?>76>?O5F 74D<>E<D>64FL 
6=<<4=<5 =4 ?5>E<G5E><E 54<=<F4E, ?GGL5 74?><=<FL <E. 

�M5 >4=4 E?>6=>EFL 6>7=<>45F E 6O5>D>< 7=4G5=<O. �E=>6=4O, G4EF> G?>FD55?O5<4O ?5>E<>4, 
>4> ?D46<?>, <=>7>7=4G=4. � F4>>< E?GG45 6 E?>64D5 G5D57 74?OFGN <?< ?>4 F<DD4<< 
?5D5G<E?ONFEO >E=>6=O5 7=4G5=<O. �<>>744 =5 =G6=> >EF4=46?<64FLEO =4 ?5D6<G=>< 7=4G5=<<. 
�5>5E>4<<> GG<FO64FL >>=F5>EF, 6 >>F>D>< <>7GF 4>FG4?<7<D>64FLEO 6F>D<G=O5 7=4G5=<O. 

�5 =G6=> ?5D56>4<FL F5>EF 4>E?>6=>, 65D=>EFL >5M5<G E<OE?G DD47O 646=55«5G>64?<7<4». 
$57G?LF4F ?5D56>44 4>?65= 5OFL ?>=OF5= =>E<F5?N DGEE>>7> O7O>4, G<F4FLEO >4> E>D>L<= 
DGEE>>O7OG=O= F5>EF, 4465 5E?< ?D< MF>< ?D<45FEO >FEFG?<FL >F 4>E?>6=>= F>G=>EF<. � F> 65 
6D5<O ?5D56>45 =5 4>?6=> 5OFL 6O4G<4==OE, ?D><76>?L=> 66545==OE DD47<5=F>6. 

�46=> ?>EF>O==> ?>?L7>64FLEO D47=O<< F<?4<< E?>64D5=. � 4>F<65 4>?65= <<5FLEO =5 
F>?L>> F574GDGE, E>45D64M<= 7=4G5=<O >F45?L=OE E?>6, => < F>?>>6O= E?>64DL, E?>64DL-
E?D46>G=<>, E?>64DL E<=>=<<>6 < 4=F>=<<>6, D477>6>D=O= E?>64DL, F5D<<=>?>7<G5E><=, E?>64DL 
E>>D4M5=<=, FDG4=>EF5= < <=>7<5 4DG7<5, F5< 5>?55 GF> 6 =4EF>OM55 6D5<O D45>F4 G?D>M45FEO 
=4?<G<5< M?5>FD>==OE E?>64D5=. 

 
�5F>4<G5E><5 G>474=<O 4?O 6O?>?=5=<O E4<>EF>OF5?L=>= D45>FO 

%4<>EF>OF5?L=4O D45>F4 EFG45=F>6 74>?NG45FEO:   
1) 6 E4<>EF>OF5?L=>< <7GG5=<< ?5>E<>>-7D4<<4F<G5E>>= F5<O (GF5=<5, ?5D56>4, ?>47>F>6>4 

> GEF=><G >?D>EG);  2) 6 E<EF5<4F<74F<< < 74>D5??5=<< ?>?GG5==OE 7=4=<= ?>ED54EF6>< ?5D5E>474 
F5>EF>6 < 6 ?>47>F>6>5 > 4<E>GEE<< ?> F5<5;3) 6 G7?G5?5==>< <7GG5=<< 7D4<<4F<G5E>>7> 
<4F5D<4?4 E <E?>?L7>64=<5< D5>><5=4>64==>= ?<F5D4FGDO. 

%4<>EF>OF5?L=4O 6=54G4<F>D=4O D45>FO EFG45=F>6 3MF> ?D>4>?65=<5 <7GG5=<O 
7D4<<4F<G5E>>7> < ?5>E<G5E>>7> <4F5D<4?4 4<EF<??<=O 6 F5?OE D476<F<< =46O>>6 GF5=<O, 
?5D56>44, 4 F4>65 GEF=>= < ?<EL<5==>= >><<G=<>4F<< =4 <=>EFD4==>< O7O>5. �?46=4O 7444G4 3 
?D>G<F4FL < ?5D565EF< 4>?>?=<F5?L=O5 F5>EFO, E>45D64=<5 >>F>DOE E6O74=> E ?D>=45==>= =4 
?D54O4GM5< ?D4>F<G5E>>< 74=OF<< F5<>=, 4 F4>65 4>?>?=<FL 7=4=<O 6 >5?4EF< 7D4<<4F<>< E 
?><>MLN <7GG5=<O GG55=<>>6, ?D<6545==OE 6 E?<E>4E >E=>6=>= < 4>?>?=<F5?L=>= ?<F5D4FGDO. 

 
�5F>4<G5E><5 G>474=<O ?> ?>47>F>6>5 > GEF=><G >?D>EG 

'EF=O= >?D>E ?D>6>4<FEO 6 <=4<6<4G4?L=>= D>D<5 =4 ?D4>F<G5E><E 74=OF<OE, O6?O5FEO 
D>D<>= F5>GM57> >>=FD>?O GD>6=O >E6>5=<O GG55=>= F5<O. �>47>F>6>4 > >?D>EG ?D>6>4<FEO 6 
E>45 E4<>EF>OF5?L=>= D45>FO EFG45=F>6 < 6>?NG45F 6 E55O ?>6F>D5=<5 ?D>=45==>7> <4F5D<4?4 ?> 
6>?D>E4< ?D54EF>OM57> >?D>E4. �D><5 >E=>6=>7> <4F5D<4?4, EFG45=F 4>?65= <7GG<FL 
4>?>?=<F5?L=GN D5>><5=4>64==GN ?<F5D4FGDG < <=D>D<4F<N ?> F5<5, 6 F>< G<E?5 E 
<E?>?L7>64=<5< �=F5D=5F-D5EGDE>6. � ED54=5<, ?>47>F>6>4 > GEF=><G >?D>EG ?> >4=><G 
?D4>F<G5E>><G 74=OF<N 74=<<45F >F 2 4> 3 G4E>6 6 746<E<<>EF< >F E?>6=>EF< F5<O < 
>E>55==>EF5= >D74=<74F<< EFG45=F>< E6>5= E4<>EF>OF5?L=>= D45>FO. �?D>E ?D54?>?4745F GEF=O= 
>F65F EFG45=F4 =4 >4<= >E=>6=>= < =5E>>?L>> 4>?>?=<F5?L=OE 6>?D>E>6 ?D5?>4464F5?O. �F65F 
EFG45=F4 4>?65= ?D54EF46?OFL E>5>= D476UD=GF>5, E6O74==>5, ?>7<G5E>< 6OEFD>5==>5 E>>5M5=<5 
=4 4=7?<=E>>< O7O>5. �D< 6OEF46?5=<< >F5=>< ?D5?>4464F5?L GG<FO645F ?D46<?L=>EFL >F65F4 ?> 
E>45D64=<N, 57> ?>E?54>64F5?L=>EFL, G<5=<5 7D4<>F=> EFD><FL D5GL =4 4=7?<=E>>< O7O>5, 6 F>< 
G<E?5 E <E?>?L7>64=<5< ?<=76<EF<G5E>>= F5D<<=>?>7<<. 

 
�5F>4<G5E><5 G>474=<O ?> ?>47>F>6>5 > F5EF<D>64=<N 

�O?>?=5=<5 F5EF>6OE 7444=<= ?D54>EF46?O5F EFG45=F4< 6>7<>6=>EFL E4<>EF>OF5?L=> 
>>=FD>?<D>64FL GD>65=L E6><E 7=4=<=, >5=4DG6<64FL ?D>55?O 6 7=4=<OE < ?D<=<<4FL <5DO ?> <E 
?<>6<44F<<. $>D<4 <7?>65=<O F5EF>6OE 7444=<= ?>76>?O5F 74>D5?<FL < 6>EEF4=>6<FL 6 ?4<OF< 
?D>=45==O= <4F5D<4?. �?O D>D<<D>64=<O 7444=<= <E?>?L7>64=4 >4> 74>DOF4O, F4> < >F>DOF4O 
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D>D<4. ' EFG45=F4 5EFL 6>7<>6=>EFL 6O5>D4 ?D46<?L=>7> >F65F4 <?< =5E>>?L><E ?D46<?L=OE 
>F65F>6 <7 G<E?4 ?D54?>65==OE 64D<4=F>6. �?O 6O?>?=5=<O F5EF>6OE 7444=<= EFG45=FO 4>?6=O 
<7GG<FL 7D4<<4F<G5E><= <4F5D<4? ?> F5<5, E>>F65FEF6GNM<5 D4745?O GG55=<>>6 GG55=OE 
?>E>5<=.  

�E?< >4><5-F> 6>?D>EO 6O=5E5=O ?D5?>4464F5?5< =4 E4<>EF>OF5?L=>5 <7GG5=<5, E?54G5F 
>5D4F<FLEO > GG55=>= ?<F5D4FGD5, D5>><5=4>64==>= ?D5?>4464F5?5< 6 >4G5EF65 <EF>G=<>4 
E6545=<=.  

 
 

�5F>4<G5E><5  G>474=<O ?> ?>47>F>6>5 > ?D><56GF>G=>= 4FF5EF4F<< 6 D>D<5 74G5F4 
�4G5F 3 D>D<4 ?D><56GF>G=>= 4FF5EF4F<<, 7444G5= >>F>D>7> O6?O5FEO >><??5>E=>5 >F5=>4 

GD>6=5= 4>EF<65=<O ??4=<DG5<OE D57G?LF4F>6 >5GG5=<O ?> 4<EF<??<=5.  
�4G5F ?D>6>4<FEO 74 EG5F G4E>6, >F654U==OE =4 <7GG5=<5 E>>F65FEF6GNM5= 4<EF<??<=O. 
 �D>F54GD4 ?D>6545=<O 44==>7> >F5=>G=>7> <5D>?D<OF<O 6>?NG45F 6 E55O: >F5=>G D57G?LF4F>6 

F5>GM57> >>=FD>?O GE?5645<>EF< EFG45=F4 6 F5G5=<5 ?5D<>44 >5GG5=<O ?> 4<EF<??<=5.  
�?O ?>?GG5=<O 74G5F4 =5>5E>4<<> <<5FL >F5=><, ?>?GG5==O5 6 D4<>4E F5>GM57> >>=FD>?O 

GE?5645<>EF<, ?> >464>= F5<5, ?D54GE<>FD5==>= 4<EF<??<=>=.  
� >D<F5D<< <F>7>6>= >F5=>< GD>6=O ?>47>F>6>< >5GG4NM57>EO ?> 4<EF<??<=5 6E>4OF: 
 - GD>65=L GE6>5=<O EFG45=F>< <4F5D<4?4, ?D54GE<>FD5==>7> D45>G5= ?D>7D4<<>=; 
 - GD>65=L ?D4>F<G5E><E G<5=<=, ?D>45<>=EFD<D>64==OE EFG45=F>< ?D< 6O?>?=5=<< 

?D4>F<G5E><E 7444=<=;  
- GD>65=L >E6>5=<O >><?5F5=F<=, ?>76>?ONM<E 6O?>?=OFL ?D4>F<G5E><5 7444=<O;  
- ?>7<>4 <OL?5=<O, >5>E=>64==>EFL, G5F>>EFL, ?>?=>F4 >F65F>6.  
 

�5F>4<G5E><5 G>474=<O ?> ?>47>F>6>5 > ?D><56GF>G=>= 4FF5EF4F<< 6 D>D<5 M>74<5=4 
�D< ?>47>F>6>5 > M>74<5=G =5>5E>4<<> ?>6F>D<FL E ?><>MLN D5>><5=4>64==>= ?<F5D4FGDO 

6E5 D4745?O (F5<4<) 4<EF<??<=O.  
�4 M>74<5=5 EFG45=F 4>?65= ?>4F65D4<FL GE6>5=<5 GG55=>7> <4F5D<4?4, ?D54GE<>FD5==>7> 

D45>G5= ?D>7D4<<>= 4<EF<??<=O, 4 F4>65 ?D>45<>=EFD<D>64FL ?D<>5D5F5==O5 =46O>< 444?F4F<< 
?>?GG5==OE F5>D5F<G5E><E 7=4=<= > E6>5= ?D>D5EE<>=4?L=>= 45OF5?L=>EF<, 6 F>< G<E?5 6 >5?4EF< 
<56>G?LFGD=>= >><<G=<>4F<<. ->74<5= ?D>6>4<FEO 6 D>D<5 GEF=>7> E>55E54>64=<5 ?> F<?>6O< 
6>?D>E4< 4?O M>74<5=4 < 6O?>?=5=<O ?D4>F<G5E><E 7444=<=, >>F>DO5 ?> D>D<5 =5 >F?<G4NFEO >F 
?D4>F<G5E><E 7444=<=, 6O?>?=5==OE EFG45=F4<< 6 F5G5=<5 FD<<5EFD4, => E4D4>F5D<7GNFEO 
?>6OL5==>= E?>6=>EFLN. 

 
 

9. ��&�$���,��-&�%��'�%��� ���%��'���� ��%&�����/ 
 
�?O D54?<74F<< 4<EF<??<=O FD55G5FEO E?54GNM55 <4F5D<4?L=>-F5E=<G5E>>5 >55E?5G5=<5: 
- 4?O ?D4>F<G5E><E 74=OF<= 3 GG55=4O 4G4<F>D<O, >E=4M5==4O >5>DG4>64=<5< < F5E=<G5E><<< 

ED54EF64<< >5GG5=<O. 
- 4?O ?D><56GF>G=>= 4FF5EF4F<< 3 GG55=4O 4G4<F>D<O, >E=4M5==4O >5>DG4>64=<5< < 

F5E=<G5E><<< ED54EF64<< >5GG5=<O. 
�?O E4<>EF>OF5?L=>= D45>FO: ?><5M5=<5, >E=4M5==>5 >><?LNF5D=>= F5E=<>>= E 

6>7<>6=>EFLN ?>4>?NG5=<O > E5F< «�=F5D=5F» < >55E?5G5=<5< 4>EFG?4 > M?5>FD>==>= 
<=D>D<4F<>==>->5D47>64F5?L=>= ED545 >D74=<74F<<. 

 
 

10. �%������%&� �%�����/ ��%&�����/ ��&��� % ��$���'���/�� 
��������%&/�� ���$��,/ 
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�5GG4NM<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?D54>EF46?ONFEO E?5F<4?L=O5 
GG55=<><, GG55=O5 ?>E>5<O < 4<44>F<G5E><5 <4F5D<4?O, E?5F<4?L=O5 F5E=<G5E><5 ED54EF64 
>5GG5=<O >>??5>F<6=>7> < <=4<6<4G4?L=>7> ?>?L7>64=<O, GE?G7< 4EE<EF5=F4 (FLNF>D4), 
>>47O64NM57> >5GG4NM<<EO =5>5E>4<<GN F5E=<G5E>GN ?><>ML, 4 F4>65 GE?G7< 
EGD4>?5D56>4G<>>6 < F<D?>EGD4>?5D56>4G<>>6.  

�E6>5=<5 4<EF<??<=O >5GG4NM<<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO <>65F 5OFL 
>D74=<7>64=> E>6<5EF=> E 4DG7<<< >5GG4NM<<<EO, 4 F4>65 6 >F45?L=OE 7DG??4E. 

�E6>5=<5 4<EF<??<=O >5GG4NM<<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO 
>EGM5EF6?O5FEO E GG5F>< >E>55==>EF5= ?E<E>D<7<G5E>>7> D476<F<O, <=4<6<4G4?L=OE 6>7<>6=>EF5= 
< E>EF>O=<O 74>D>6LO. 

� F5?OE 4>EFG?=>EF< ?>?GG5=<O 6OEL57> >5D47>64=<O ?> >5D47>64F5?L=>= ?D>7D4<<5 ?<F4<< E 
>7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?D< >E6>5=<< 4<EF<??<=O >55E?5G<645FEO: 

1) 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?> 7D5=<N: 
3 ?D<EGFEF6<5 FLNF>D4, >>47O64NM<= EFG45=FG =5>5E>4<<GN F5E=<G5E>GN ?><>ML E GG5F>< 

<=4<6<4G4?L=OE >E>55==>EF5= (?><>745F 74=OFL D45>G55 <5EF>, ?5D546<74FLEO, ?D>G<F4FL < 
>D>D<<FL 7444=<5, 6 F>< G<E?5, 74?<EO64O ?>4 4<>F>6>G), 

3 ?<EL<5==O5 7444=<O, 4 F4>65 <=EFDG>F<< > ?>DO4>5 <E 6O?>?=5=<O >D>D<?ONFEO 
G65?<G5==O< LD<DF><, 

3 E?5F<4?L=O5 GG55=<><, GG55=O5 ?>E>5<O < 4<44>F<G5E><5 <4F5D<4?O (<<5NM<5 >DG?=O= 
LD<DF <?< 4G4<>D4=?O), 

3 <=4<6<4G4?L=>5 D46=><5D=>5 >E65M5=<5 =5 <5=55 300 ?N>E, 
3 ?D< =5>5E>4<<>EF< EFG45=FG 4?O 6O?>?=5=<O 7444=<O ?D54>EF46?O5FEO G65?<G<64NM55 

GEFD>=EF6>; 
2) 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?> E?GEG: 
3 ?D<EGFEF6<5 4EE<EF5=F4, >>47O64NM<= EFG45=FG =5>5E>4<<GN F5E=<G5E>GN ?><>ML E GG5F>< 

<=4<6<4G4?L=OE >E>55==>EF5= (?><>745F 74=OFL D45>G55 <5EF>, ?5D546<74FLEO, ?D>G<F4FL < 
>D>D<<FL 7444=<5, 6 F>< G<E?5, 74?<EO64O ?>4 4<>F>6>G), 

3 >55E?5G<645FEO =4?<G<5 76G>>GE<?<64NM5= 4??4D4FGDO >>??5>F<6=>7> ?>?L7>64=<O, ?D< 
=5>5E>4<<>EF< >5GG4NM5<GEO ?D54>EF46?O5FEO 76G>>GE<?<64NM4O 4??4D4FGD4 <=4<6<4G4?L=>7> 
?>?L7>64=<O; 

3 >55E?5G<645FEO =44?564M<<< 76G>>6O<< ED54EF64<< 6>E?D><76545=<O <=D>D<4F<<; 
3) 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO, <<5NM<E =4DGL5=<O >?>D=>-

46<74F5?L=>7> 4??4D4F4: 
3 ?<EL<5==O5 7444=<O 6O?>?=ONFEO =4 >><?LNF5D5 E> E?5F<4?<7<D>64==O< ?D>7D4<<=O< 

>55E?5G5=<5< <?< =44<>F>6O64NFEO FLNF>DG; 
     3 ?> 65?4=<N EFG45=F4 7444=<O <>7GF 6O?>?=OFLEO 6 GEF=>= D>D<5. 
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